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The following table shows the number of students who appeared in a Common Entrance Test (CET) from six
different schools A-F during the years 2020 - 2022, and the ratio of number of passed (P) to the number of
failed (F) students among them. Based on the data in the table, answer the question :

School-wise Appearance of Students in CET during 2020 - 2022.

¢ chool 2020 2021 2022
\Appeared P-F \Appeared PF |Appeared [P-F
A 1292 11:8 1508 7.6 |1344 3:5
B 1694 47 1690 8.5 [1904 9:8
8! 1620 8:7 1584 74 [1274 4:3
D 1752 75 1656 11:7 1976 7:12
E 1740 3:2 1452 74 |1430 8:5
F 1972 17:12 1734 12:5 |1848% 8:13

fafafaa arferet 3 9 2020-2022 & ERA o5 i fAaedl A-F & IMfes vaw wien (g & sufam
et &t dwm Sk 34 9 Sivl (p) faenfial &1 e &1 s () faenfial @1 ¥em 4 s
yeRid g | aifcre | 38 T affes & NUR IR Uy &1 IR Sifoig :

¥ 2020-2022 F SRM Fis el T fTenay-aR Iufyq faemeif

2020 2021 2022

faerrera Suftrd faemdf [pF QUi faendf |pF |[Sufya faemf |pF
A 1292 11-8 [1508 76 [1344 35
B 1694 17 [[1690 85 [1904 98
C 1620 87 [1584 74 1274 43
D 1752 75 1636 11:7]1976 712
E 1740 12 1432 74 [1430 23
F 1972 17:12[[1734 1251848 813

What is the difference between the number of students who passed in the test from School D in the year 2020
and the number of students who failed in the test from School B in the year 2022 ?

1.112
2.120
3.126
4. 136
(1)1
(2) 2
(3) 3
(4) 4

Ty 2020 ¥ fdenerd D & a_ien § Sitvl faenfial B wwe Sk oy 2022 ¥ [deerd B & odien o 0l
faenfifal =t wkem & A9 SR fBa1 g 2

A2

120
3.126
4,136

(1) 1

) 2

(3) 3

(4) 4

b2 —

1[Option ID=39901] Question Description : general_paper_genarel paper_set 31_english_q1
2[Option ID=39902]
3[Option ID=39903]
4[Option ID=39904]
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The following table shows the number of students who appeared in a Common Entrance Test (CET) from six
different schools A-F during the years 2020 - 2022, and the ratio of number of passed (P) to the number of
failed (F) students among them. Based on the data in the table, answer the question :

School-wise Appearance of Students in CET during 2020 - 2022.

2020 2021 2022
A | Appeared P-F \Appeared D-F  |Appeared D-F
A 1292 11:8 1508 76 |1344 3:5
B 1694 47 1690 2.5 [1904 08
& 1620 8:7 1584 74 [1274 4:3
D 1752 7:3 1656 11:7 [1976 7:12
E 1740 3:2 1452 74 |1430 8:5
I3 1972 17:12 1734 12:5 |[1848 l8:13

FafeRaa aifeet § a¥ 2020-2022 & aRH S8 1 [daTadl A-F & Ifod Yo aeiam ([igeh) & 3ufd
fqenfdal &1 dwm ik 39 I 3l (p) faenfifl &1 e &1 i (F) faenfial &1 wem 4 s
Yeiid § | aIfcret & fad T 3ifars & YR W UY P IR aifod :

g9 2020-2022 & SRMAE Hect H [Genag-ar Sufum fGemff

2020 2021 2022

GRS Jureyd faemdt |pF  [Quiud faendf |pF [Sufq e [pF
A 1292 11:8 [1508 7:6 [1344 33
B 1694 17 [1690 8:5 [1904 9:8
C 1620 8.7 |1584 74 [1274 43
D 1752 75 1636 11:7]1976 712
E 1740 32 [1432 7:4 [1430 g3
F 1972 17:12[[1734 12:51848 813

What is the total number of students who failed from School F in all the three years together 7

. 2290
. 2470
. 2650
. 2830
(1)1
(2) 2
(3) 3
(4) 4

i <f1=i auf &1 U 1Y e faenad F & il faenfeidl &1 e g faval § 2

L2290
. 2470
. 2650
. 2830
1) 1
(2) 2
(3) 3
(4) 4

Fd =

S Y

B R

1[Option ID=39905] Question Description : general_paper_genarel paper_set 31_english_q2
2[Option ID=39906]
3[Option ID=39907]
4[Option ID=39908]
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The following table shows the number of students who appeared in a Common Entrance Test (CET) from six
different schools A-F during the years 2020 - 2022, and the ratio of number of passed (P) to the number of
failed (F) students among them. Based on the data in the table, answer the question :

School-wise Appearance of Students in CET during 2020 - 2022.

2020 2021 2022
A | Appeared P-F \Appeared D-F  |Appeared D-F
A 1292 11:8 1508 76 |1344 3:5
B 1694 47 1690 2.5 [1904 08
& 1620 8:7 1584 74 [1274 4:3
D 1752 7:3 1656 11:7 [1976 7:12
E 1740 3:2 1452 74 |1430 8:5
I3 1972 17:12 1734 12:5 |[1848 l8:13

FafeRaa aifeet § a¥ 2020-2022 & aRH S8 1 [daTadl A-F & Ifod Yo aeiam ([igeh) & 3ufd
fqenfdal &1 dwm ik 39 I 3l (p) faenfifl &1 e &1 i (F) faenfial &1 wem 4 s
Yeiid § | aIfcret & fad T 3ifars & YR W UY P IR aifod :

g9 2020-2022 & SRMAE Hect H [Genag-ar Sufum fGemff

2020 2021 2022

GRS Jureyd faemdt |pF  [Quiud faendf |pF [Sufq e [pF
A 1292 11:8 [1508 7:6 [1344 33
B 1694 17 [1690 8:5 [1904 9:8
C 1620 8.7 |1584 74 [1274 43
D 1752 75 1636 11:7]1976 712
E 1740 32 [1432 7:4 [1430 g3
F 1972 17:12[[1734 12:51848 813

What is the total number of students who passed the test from all the six schools in the year 2021 7

. 5700
. 5840
. 5980
. 6020
1) 1
(2) 2
3) 3
4) 4

Ty 2021 8 T2t g faenadi & wien & Il faenfial &1 oo e e 8 2

Fd =

IS Y

1. 5700
2. 5840
3. 5980
4. 6020

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39909] Question Description : general_paper_genarel paper_set 31_english_q3
2[Option ID=39910]
3[Option ID=39911]
4[Option ID=39912]
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The following table shows the number of students who appeared in a Common Entrance Test (CET) from six
different schools A-F during the years 2020 - 2022, and the ratio of number of passed (P) to the number of
failed (F) students among them. Based on the data in the table, answer the question :

School-wise Appearance of Students in CET during 2020 - 2022.

2020 2021 2022
A | Appeared P-F \Appeared D-F  |Appeared D-F
A 1292 11:8 1508 76 |1344 3:5
B 1694 47 1690 2.5 [1904 08
& 1620 8:7 1584 74 [1274 4:3
D 1752 7:3 1656 11:7 [1976 7:12
E 1740 3:2 1452 74 |1430 8:5
I3 1972 17:12 1734 12:5 |[1848 l8:13

FafeRaa aifeet § a¥ 2020-2022 & aRH S8 1 [daTadl A-F & Ifod Yo aeiam ([igeh) & 3ufd
fqenfdal &1 dwm ik 39 I 3l (p) faenfifl &1 e &1 i (F) faenfial &1 wem 4 s
Yeiid § | aIfcret & fad T 3ifars & YR W UY P IR aifod :

g9 2020-2022 & SRMAE Hect H [Genag-ar Sufum fGemff

2020 2021 2022

GRS Jureyd faemdt |pF  [Quiud faendf |pF [Sufq e [pF
A 1292 11:8 [1508 7:6 [1344 33
B 1694 17 [1690 8:5 [1904 9:8
C 1620 8.7 |1584 74 [1274 43
D 1752 75 1636 11:7]1976 712
E 1740 32 [1432 7:4 [1430 g3
F 1972 17:12[[1734 12:51848 813

What is the average number of students who failed in the test from School C in all the three vears together ?

1. 622
2.624
. 626
. 628
(1)1
(2) 2
(3) 3
(4) 4

i <f1=1 9l 1 U U1y e faenay ¢ & usien o SrRiol faenfiial & s S ol g 2

. 622
. 624
. 626
. 628
1) 1
(2) 2
(3) 3
(4) 4

JIES Y

B B

1[Option ID=39913] Question Description : general_paper_genarel paper_set 31_english_q4
2[Option ID=39914]
3[Option ID=39915]
4[Option ID=39916]
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The following table shows the number of students who appeared in a Common Entrance Test (CET) from six
different schools A-F during the years 2020 - 2022, and the ratio of number of passed (P) to the number of
failed (F) students among them. Based on the data in the table, answer the question :

School-wise Appearance of Students in CET during 2020 - 2022.

2020 2021 2022
A | Appeared P-F \Appeared D-F  |Appeared D-F
A 1292 11:8 1508 76 |1344 3:5
B 1694 47 1690 2.5 [1904 08
& 1620 8:7 1584 74 [1274 4:3
D 1752 7:3 1656 11:7 [1976 7:12
E 1740 3:2 1452 74 |1430 8:5
I3 1972 17:12 1734 12:5 |[1848 l8:13

FafeRaa aifeet § a¥ 2020-2022 & aRH S8 1 [daTadl A-F & Ifod Yo aeiam ([igeh) & 3ufd
fqenfdal &1 dwm ik 39 I 3l (p) faenfifl &1 e &1 i (F) faenfial &1 wem 4 s
Yeiid § | aIfcret & fad T 3ifars & YR W UY P IR aifod :

g9 2020-2022 & SRMAE Hect H [Genag-ar Sufum fGemff

2020 2021 2022

faer Suieyd faeedl |pF QUi faemdi [p-F |guisyd faemi |p-F

A 1292 11:8 1508 T:6 1344 33

B 1694 4:7  |1690 8:3 1904 9:8

C 1620 8:7 [[1584 T4 1274 4:3

D 1732 75 1636 11:7(1976 7:12

E 1740 3:2 1452 T4 |1430 8:3

F 1972 17:12 {1734 12:5]|1848 8:13

The number of students who passed in the test from School E in the year 2020is _ of the number of

students who failed in the test from School A in the year 2021.

1. 150%
2.125%
3.112.5%
4. 66.66%

1) 1

(2) 2

3) 3

4) a4

Ty 2020 ¥ [q@Ted E & wien I Siivl faentiial o dwem, av 2021 § fGemed A & wien d sl
faenfifal ot T @1 fasa wia=d () § 2

1. 150%
2.125%
3.112.5%
4. 66.66%

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39917] Question Description : general_paper_genarel paper_set 31_english_q5
2[Option ID=39918]
3[Option ID=39919]
4[Option ID=39920]

Sl. No.6
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Which of the following are the characteristics of Learner-Centered Methods ?

A, Teacher's functions are more as facilitators.

B. Learners become independent learners.

C. Learners are active participants in the process of learning.

D. Learners engage themselves in need based activities under the supervision of teacher.

Choose the most appropriate answer from the options given below:;

LAB.CandD
. C and D only
3. Aand B only
4. A, Band C only

[




(1) 1
(2) 2
(3) 3
(4) 4

SHferTHEl-d -5 ol & siftraeu Fafied 3 A 2

A e &1 31 GHHBRS & =0 1 S 5

B. SiftrHEal Taad ftnHEdl g1 ofid &1

c. fferrmed, siftrm ufear & wfbg wgurh 9 &1

D. Sl 30 39! e & udaenn § snavaemdr snurid nafafial & Saumd € 1

= Gu aw faereul & @ Had 3UYw 3L @B GG hHITSAT:

1.A.B.C3RD
2. %ad € AR D
3. %dd A AR B
4. FAAA,BIIRC

1 1

) 2

@3) 3

@) 4

1[Option ID=39921] Question Description : general_paper_genarel paper_set 31_english_q6
2[Option ID=39922]
3[Option ID=39923]
4[Option ID=39924]

Sl. No.7
QBID:31201007

Given below are two statements :

Statement I : Podcast is an example of Synchronous communication.

Statement II : Video conferencing via google meet is an example of Asynchronous communication.
In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement [ is true but Statement II is false.
4. Statement I is false but Statement IT is true.

1) 1

(2) 2

(3) 3

(4) 4

= pua few aw €

YA [ : UISHRE Jeddiierd TUuol & T 3G & |

FYF 11 : TP Ae G DS FhleasT Jgeddiiod TUU0T H TH 3G §
IURITh e & 3Teieh &, a9 8T 7w [Oeedl & @ T8 T8 & =999 hifes:

mE IR It e R

—t

[

T I AR I e #

3.999 1 5c0 & aftha &9 11 39T &

4 FUA 3T L, AT U I T ®
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=39925] Question Description : general_paper_genarel paper_set 31_english_q7
2[Option ID=39926]

3[Option ID=39927]
4[Option ID=39928]
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Arrange the following steps of learning process in ascending order ?

A. Motive or Need
B. Readiness
C. Interaction
D. Learning Situation
E. Goal
F. Adjustment
G. Changes
H. Fixation
Choose the correct answer from the options given below:
1.B,D,A,E,G,H,F,C
A EB DG FGH
.E,D,A,B,C,H,G,F
.D,B,A,C,E,G,H,F
(1) 1
2) 2
(3) 3
4) 4

e wfshar & Fafafad ST & 3Rig A & wafRud Hifer -

A, 3YURE AT G|
B. ddxdl
C. 31 {1

D. e RUfd
E. d&

S V)

A few v fakhedt & & WEl IR F1 94 FIfAT
LB D ALE GHEC
2.AEB D CEFEGH
3EDABCHGE
4.D,B,A,C.E,.G. HF

1

(2 2

(3) 3

(4) 4

1[Option ID=39929] Question Description : general_paper_genarel paper_set 31_english_q8
2[Option ID=39930]
3[Option ID=39931]
4[Option ID=39932]

Sl. No.9
QBID:31201009

Given below are two statements :

Statement I : Teacher should deal with students strictly for maintaining effective discipline in the class.
Statement II : Healthy Students- Teacher interaction is the base of an effective classroom environment.
In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4, Statement I is false but Statement II is true.

(1) 1

(2) 2

(3) 3

(4) 4




= o e few ow ¥

HUA 1 : fAaTes B Ban 3 UHIT A g @ & fow Pt § @y awdiggs Suear aftw |
HUF 11 - Frardf-fars & Taey 3= fhar HaT & T aTaeReT S TUR S ¥

SURTh A & HTelleh A, Ara BT ¢ Fehedl & @ HWEl 3o & = i

l.&ya 1 3w I 2= gew &)

[

U I AR I 2 e ®

3.999 1 59 &, afha &y 11 399 & |

4. %Y= 1 3T §, Afha a1 &3 & |
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=39933] Question Description : general_paper_genarel paper_set 31_english_q9
2[Option ID=39934]

3[Option ID=39935]
4[Option ID=39936]

Sl. No.10
QBID:31201010

Given below are two statements :

Statement I : SWAYAM is a programme initiated by Government of India.

Statement IT : SWAYAM is designed to achieve six cardinal principles of education policy.
In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but statement I 1s false.
4. Statement I is false but Statement IT is true.

(1)1

(2) 2

(3) 3

(4) 4

e & e few ow ¥

HIA I : TOF (SWAYAM), HRA TR GRT R fFam T= o Sdoa © |

HYA 11 - T8 & e AT 5 o FqEng RBed & uE &4 & e @@ e mr g
SO A & el A, A4 fgw el # 9 #8 3@ @ Taa Sifaw:

l.&y= I 3w I 2= aeg &1

[

i N Cl A T T

3.%Y99 [ 6cg &, oifhd ou= 1T 3 Eca ¥ o

4.9 1 30T &, oy A 1L T & |
1) 1
(2) 2
(3) 3
4) 4
1[Option ID=39937] Question Description : general_paper_genarel paper_set 31_english_q10
2[Option ID=39938]

3[Option ID=39939]
4[Option ID=39940]

Sl. No.11
QBID:31201011




Specific predictions about what will happen according to the theory are known as

1. Research Statements
2. Research forecasts
3. Hypotheses

4. Probabilities

1)1

(2) 2

(3) 3

(4) 4

R<id & S9R 397 81T, 3% SR H [afR1p qaiguri &1 f6h & 1 S o1dl 6 2

1. QY HYA
2. Sy gaiqEE
3. WP eaTd
4. FHToIaTd
1) 1
(2) 2
(3) 3
4) 4
1[Option ID=39941] Question Description : general_paper_genarel paper_set 31_english_q11
2[Option ID=39942]

3[Option ID=39943]
4[Option ID=39944]

Sl. No.12
QBID:31201012

A process of reasoning emanating from a theory or hypothesis to systematic observation and conclusion is

called

1. Inductive approach
2. Discourse approach
3. Deductive approach
4. Phenomenological approach
1)1
(2) 2
3) 3
4) 4

mﬁ%mﬁwaﬁ?ﬁrﬁﬁ?mwﬁ@ﬁmwﬁmsﬁaﬁﬁwmmﬁww
SIaTg 2

. MTHATHS J9TH
fomef Gurm

e S 3urH

. EROVYIYIRA SUNTH (G THI)
1) 1

(2) 2

(3) 3

4) 4

da Lo D =

1[Option ID=39945] Question Description : general_paper_genarel paper_set 31_english_q12
2[Option ID=39946]
3[Option ID=39947]
4[Option ID=39948]

Sl. No.13
QBID:31201013

According to post-positivists, it is impossible to achieve

1. Objectivity
2. Abstraction
3. Predictability
4. Qualitative assertions
1 1
(2) 2
3) 3
(4) 4




SR-YA&AIT! & STOR FafaRad ¥ 3 g1 9 =1 ™Ya g 2
EESIREG]

s

VGRS HHHYT
1) 1
(2) 2
(3) 3
(4) 4

R

1[Option ID=39949] Question Description : general_paper_genarel paper_set 31_english_q13
2[Option ID=39950]
3[Option ID=39951]
4[Option ID=39952]

Sl. No.14
QBID:31201014

For empirical studies, the poster presentation can have :

A, Abstract

B. Method

C. Data

D. Results

E. Conclusion

Choose the correct answer from the options given below:

.B.D.E only
.C.D,E only
.A.D.E only
A B.C.,DandE

O

1)1
(2) 2
(3) 3
(4) 4

U g & foTg URex MRl & 1 81 9ahdl § 2
A 3d
B. fafg
C. & (San)

D. gRkumg
E. fepe

o 2w ow Peeur & O O% 3OX & 99 i

1.%dd B, D, E
2. $ad C,D. E
3. %BdAA, D, E
4. A.B,C.DIRE
)1
() 2
3) 3
(@) 4

1[Option ID=39953] Question Description : general_paper_genarel paper_set 31_english_q14
2[Option ID=39954]
3[Option ID=39955]
4[Option ID=39956]
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Given below are two statements :
Statement I : In social science research, the term 'gender’ is preferred only on rare occasions.

Statement IT : The term 'gender’ is sociological and cultural construction of differences related to biological
features.

In the light above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but statement IT 1s false.
4. Statement I 1s false but Statement IT is true.

(1)1

(2) 2

(3) 3

(4) 4

= o Fua fow ow B

HYF [ . G e & Ay 7 wesy (Fn) ug o e Rt w admar & s €

FUF 11 - Sesx g S Adwans & @afid Weaant & gesere 3R aeptae e v
ST YA & HTellss #, A= BT 7w el & & HE 3o &1 =G Hifaw:

l.&y= I 3w I 2= gew £

[

U I AR I & e ¥

3.9U9 I Gcg b, oifhd o= I 3T ¥

4. ®UA 1 3T &, wifehT ou 11 Gc3 |
(1) 1
(2) 2
3) 3
4) 4
1[Option ID=39957] Question Description : general_paper_genarel paper_set 31_english_q15
2[Option ID=39958]

3[Option ID=39959]
4[Option ID=39960]

Sl. No.16
QBID:31201016

An ancient treatise on Indian Communication arts, the Natya Sastra, was written by

1. Panini
2. Prabhakara
3. Mandana Mishra
4. Bharatha Muni
1) 1
(2) 2
3) 3
(4) 4

YRATT TEIY[ ST U U GY-ATCTRd & add i g 2

IO
 AHTHR
Hea Tty
R g
(1) 1

(2) 2

3) 3

(4) 4

b2 =

e L

1[Option ID=39961] Question Description : general_paper_genarel paper_set 31_english_q16
2[Option ID=39962]
3[Option ID=39963]
4[Option ID=39964]

Sl. No.17
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The functional analysis of communication was majorly offered by

1. Sociologists

2. Mathematicians
3. Physicists

4. Linguists

11

(2) 2

(3) 3

(4) 4

frafafad o 9 f=1e gR1 990 & Yomias f[ARay0 & gerd: Ueqd (a1 17 4T 2

1. HHS ail S|
2. Jlfﬁ!ﬁil
3. Yifa® aill:i
4, Yro1-fagmt
(1) 1
(2) 2
3) 3
4) 4
1[Option ID=39965] Question Description : general_paper_genarel paper_set 31_english_q17
2[Option ID=39966]

3[Option ID=39967]
4[Option ID=39968]

Sl. No.18

QBID:31201018

Which of the following factors were responsible for the emergence of mass communication as a powerful tool
3

A. To distort the opinions in the public domain

B. Man's urge to observe his environment through some means.

C. Something to report to him of dangers and opportunities around him.
D. Some means to circulate his opinions.

E. Some means to hide facts of public interest

Choose the correct answer from the options given below:

1.A, B, Conly
2.B.C.Donly
3.C.D.E only
4, A B,E only

1 1

(2) 2

3) 3

(4) 4

% Yfdqenell IuaRv & &9 o9 99R & 2nfayid & oo Fofafea & @ a5 3 oRe Swerdi g2

A, Traola &3 (S B SAfmal o fiyeamaus o

B. T™ &1 $% H14-l & T1e9H H 30 GRa=I & U&ful & aeies
C. 3P Ta-1g TRl AR HFHRI & §R 1 o RUIC B

D. 39& Al & YR & [0 $8 FreH

E. SiHigd & d2i &l 35U & fau o8 e

= Bw o faweal & ¥ T8l 30 & 994 e

1. BAAA. B, C
2. %ddB,C,D
3. %9 C,D,E
4. PATA,B.E

1) 1

(2) 2

(3) 3

(@) 4

1[Option ID=39969] Question Description : general_paper_genarel paper_set 31_english_q18
2[Option ID=39970]
3[Option ID=39971]
4[Option ID=39972]
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Given below are two statements :
Statement I : In a democracy. mass media are designated as the fourth pillar of the society.
Statement II : Mass media do not have the ability to set the agenda for the audience to discuss and debate.

In the light of the of the above statements, choose the most correct answer from the options given below:

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement [ is true but Statement II is false.
4. Statement I 1s false but Statement II s true.

1) 1

2) 2

(3) 3

(4) 4

== g1 mug fBr aw §
PYF [ : Shad § FIG ASAT P AT & O TEH b w9 & Ay g S ¥

Fua I - &1 #AfEar & 7491 3R ae-fag (Bde) 3 3w (3Raw) & Br s (w9ie) [aia
L T &THATT e Bl |

IR ®AA o Helle &, ara fgw 7w fawmedl & O @8 39X &1 =9 Hifae:
L IR I o & 1
22y [ AR 1 &t 3T ©

3.%u9 [ |@ca &, ofthd o 11 3T § |

4.5 [ 30T &, oifert @ I @ca ¥
(1) 1
(2) 2
3) 3
4) 4
1[Option ID=39973] Question Description : general_paper_genarel paper_set 31_english_q19
2[Option ID=39974]

3[Option ID=39975]
4[Option ID=39976]

Sl. No.20
QBID:31201020

Given below are two statements :
Statement I : An effective communicator does not serve as a change agent.

Statement II : An effective communicator examines the needs of the people for social change as related to the
overall benefit of the society.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct.
2. Both Statement I and Statement II are incorrect.
3. Statement [ is correct but Statement II is incorrect.
4. Statement I is incorrect but Statement II is correct.
1) 1
(2) 2
3) 3
(4) 4




FHUF I - usTd! gFUus, afiaad & T Hedl & 9 # @ A6 ol & |

FHUA 11 - UHTdT TEIUs A & T Bd & Tafada Oeliesie ORda= & o dE B aedaarsi oy
STA-Ug AT § |

3WIth HAA & 3eld A, A9 fw av Fpedl # § ol sUE IR H a9 Hifau
L3y 1 3R 0 = 58 & |
2.%u= 1 3R 1 &t mea €
3.%u= 1§ ¥, afthd ST 11 7Toid ¥ |

4. FUF 1 T &, e U= I T 8§ |
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=39977] Question Description : general_paper_genarel paper_set 31_english_q20
2[Option ID=39978]

3[Option ID=39979]
4[Option ID=39980]
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The average of seven consecutive odd numbers is 17. If next three odd numbers are also included, then what

will be the new average ?

. 20
19
21
22

ka2 —

o L

(1) 1

(2) 2

(3) 3

(4) 4

1 HHPTT faud Tl &1 3 17 § | 9fe et & favm St & of afifed far s, ar =7an
3rgd faenm 2

20
19
<21
22

o

:h.t_.-o

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39981] Question Description : general_paper_genarel paper_set 31_english_q21
2[Option ID=39982]

3[Option ID=39983]
4[Option ID=39984]
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In a certain code NATIONAL' is coded as : ' OCWMTTHT'. How 'SECULAR’ will be coded in that code ?

JTGFYQIX'

JSTGFYQYG!
JSTGFYQGY'
' TGHYRHW'
1)1

(2) 2

3) 3

4) 4

B




U T T NATIONAL' &1 'OCWMTTHT' & &4 T eas (501 1 §, 1 38 $e H 'SECULAR' &1 54
Pd (BT SIET 2

STGFYQIX!

JTGFYQYG
TGFYQGY'
.'TGHYRHW'
1) 1

(2) 2

3) 3

4) 4

|

S V)

1[Option ID=39985] Question Description : general_paper_genarel paper_set 31_english_q22
2[Option ID=39986]
3[Option ID=39987]
4[Option ID=39988]
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A shopkeeper has 90 clocks. Out of these 90 clocks he sells 40 clocks at a gain of 10% and 50 clocks at a gain
of 20%. If he would have sold all the clocks at a uniform gain of 15%, he would have got Rs. 40 less. Find the
cost price of each clock.

85
200
T80
2100

il el & e

(1)1
(2) 2
(3) 3
(4) 4

T SHMER & T8 90 TRSa1 § 15 90 TfSal & 40 91501 &1 10 WiIa a4 W SR 50 9S8 o1 20
uﬁmﬂaT‘Hu?éﬂﬂ% | ofg I it ufsal &1 15 vio=ra & 99 a1y 9= 991 61dl, 11 99 40 398 $H9
o1 BId | Yo °S1 &1 PTd Wl JiTd Bifoid :

. 85

2, 90

%, 80
4,%. 100

1) 1

(2) 2

3) 3

(4) 4

LIS T SR

1[Option ID=39989] Question Description : general_paper_genarel paper_set 31_english_q23
2[Option ID=39990]
3[Option ID=39991]
4[Option ID=39992]

Sl. No.24
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The average age of a man and his daughter is 45 years. If the respective ratio of their ages after 9 years is
23:13, Find the present age of the daughter.

. 40 years
. 36 years
. 30 years
. 33 years

e L b

1) 1
2) 2
3) 3
(4) 4

U G3Y AR IS T BT SAI9d g 45 a9 § | Tl o a9 9Td 31 31 BT SUId 23:13 81, I Tl 1
A 3T J1d BT |

g0 a9
36T
30Ty
339y

il ol il

@ 1




(2) 2
3) 3
(4) 4
1[Option ID=39993]
2[Option ID=39994]

3[Option ID=39995]
4[Option ID=39996]

Question Description : general_paper_genarel paper_set 31_english_q24
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3,9,17,27,39,?

50
55
3.53
4. 59
1)1
(2) 2
(3) 3
(4) 4

b =

3,9,17,27.39. 9

da La ba
LhoLn Lh L
[N

sO

(1) 1
2) 2
3) 3
4) 4
1[Option ID=39997]
2[Option ID=39998]

3[Option ID=39999]
4[Option ID=40000]

What number can replace question mark (7) in the series given below ?

a1 € 1 kg § @1 I e uyares g (2) i ufawdifud st 2

Question Description : general_paper_genarel paper_set 31_english_q25

Sl. No.26
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. Straw man

(1) 1
(2) 2
(3) 3
(4) 4

"Health care reforms in India will not work since our health care system simply cannot be reformed”. Which
fallacy iz committed in the above argument ?

1. Hasty generalisation
2. Slippery slope

3
4. Begging the Question

"HRA H TR S HTT JaHT YR FTRTRD el 6H i GHRT el ST eel yomel! faepa

1[Option ID=40001]
2[Option ID=40002]
3[Option ID=40003]
4[Option ID=40004]

R T &1 w1 I gfdd B SiHu ab-a g 2

Question Description : general_paper_genarel paper_set 31_english_q26
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"If Ramirez is a member of the animal rights society; then he opposes cock fighting. Ramirez opposes cock
fighting. Therefore Ramirez is a member of the animal rights Society." Identify the fallacy in the above
argument.

1. Denying the antecedent
2. Affirming the consequent
3. Existential fallacy

4. Undistributed middle

1)1
(2) 2
(3) 3
(4) 4

"ofe; TG U] SR YHTS &1 9aw ¢; dl 98 Griarel & [av1y Sl ¢ | WS JiaTel o fariy Sdr
© | SHfaE RS U] TSR Tl B 9&- § 1" SWRIEd gfck 1 faedH daa ] ugdH Sifo |

1. Bqar-Huy
2. Haarad-l[ay=
3. A ETARD dham
4, 3T §q
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=40005] Question Description : general_paper_genarel paper_set 31_english_q27
2[Option ID=40006]
3[Option ID=40007]
4[Option ID=40008]

Sl. No.28
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Which of the following statements are contradictory to each other ?

A. All human beings are mortal.

B. No human beings are mortal.

C. Some human beings are mortal.

D. Some human beings are not mortal.

Choose the most appropriate answer from the options given below:

1. Aand B only
2. Aand D only
3. Cand D only
4, Aand C only

(1) 1

(2) 2

3) 3

(4) 4

FafafEa d T oH 9 HyT e i g 2

AR ITIIREAT |

B. @i T W AR Iz |
C.POTTITREAS |

D. $8 T{U AR TEI 8l © |

= fem arw Taspedl O Tl 3UYd 3aY @l =9 hIag:

1. $adA IR B
2. AT A MRD
3.%ad C AR D
4. FAAANRC
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=40009] Question Description : general_paper_genarel paper_set 31_english_q28
2[Option ID=40010]

3[Option ID=40011]
4[Option ID=40012]
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Which of the following statements is logically equivalent to the Statement - "Some plants are insect eaters" ?

. Some non-insect eaters are not non-plants.
. Some plants are non-insect eaters.

3. Some plants are not non-insect eaters.

4. Some plants are not insect eaters.

ko =

(1) 1
(2) 2
3) 3
(4) 4

PR & ¥ $F T HYF dlihe U 9 58 $UT F G0 § - "$S U Breyei g g 2

1. 8 IR-Bleyel R-uey T e &
2. $O Ul IR-BIcUel gd &

3. 99 UEY TR-Sleyd Tl g B

4. 9% Uley Bieyef 7g gia g

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=40013] Question Description : general_paper_genarel paper_set 31_english_q29
2[Option ID=40014]

3[Option ID=40015]
4[Option ID=40016]

Sl. No.30
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In classical Indian philosophy Svartha (for oneself) and Parartha (For others) are kinds of which of the
following pramana (instruments of knowledge) ?

1. Pratyaksa

2. Anuplabdhi
3. Upmana
4

(4) 4

URATG R GeHeRe 8 @i (39 & o) vd o (gl & o) Fafafad v (3= & 9eF) &
FHIATPRF & 2

W&

SrFuafs

SUAM
HIH

O

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=40017] Question Description : general_paper_genarel paper_set 31_english_q30
2[Option ID=40018]

3[Option ID=40019]
4[Option ID=40020]

Sl. No.31
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What is the difference between asynchronous and synchronous communication ?

1. Asynchronous is real-time communication, while synchronous is one-way technology.

2. Asynchronous is communication that does not occur at the same time, while synchronous
communication ocecurs at the same time.

3. Asynchronous communication includes instant messaging, while synchronous communication includes

email.
4. Asynchronous communication is fast and instant while synchronous communication is collected at a

single point in time.
1) 1
(2) 2




3) 3
(4) 4

BTN g SJelicd SaR & &g HafaRad I 8 &IF 91 Sl g 2

1. ATEDIAD ARATAD-PIA TR 5. AP Jedoplaid U THHRT Ui § |
2. ATDID a8 FaR ¢ 9l U ol 999 IR o] oidl 5, 9did Jeddlid SaR 349 99 3ial @ |
3. IS YR B dabTe Yo U M § Safe Jeadlicrs SarR 1 S 0d K sidl § |
4. ATIDID YIR did R T AT § AaIP JeaPblicid TdR U THY (999 | dufgd fean
SR |

@1

@ 2

3) 3

@ 4

1[Option ID=40021] Question Description : general_paper_genarel paper_set 31_english_q31
2[Option ID=40022]
3[Option ID=40023]
4[Option ID=40024]
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Identify the correct order of the types of secondary storage (A-C) listed below from fastest to slowest access
time.

A Optical
B. Solid State
C. Magnetic

Choose the correct answer from the options given below:

1.B.A,C
2.A.C.B
3.C,A,B
4.B,C,A

(11

(2) 2

(3) 3

(4) 4

fadia® YR & FEfaEd voR! (a-0) & diagy @ gaifte be firm T99 & 9t oY &t ugaH

A UHTLA (3MPdH)
B. dlfeis ¥e

C. uBi (Hfe®)
e Bu 9w @epeul & ¥ TRl 3OE o O89S hiTaid:

.B.A,C

1
2

= W)
=0p

opn
W

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=40025] Question Description : general_paper_genarel paper_set 31_english_q32
2[Option ID=40026]

3[Option ID=40027]
4[Option ID=40028]
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Given below are two statements :

Statement I : Encrypting data prevents it from being hacked.

Statement II : Backing up data removes the risk of the data being infected by viruses.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but statement II is false.
4. Statement I 1s false but Statement II 1s true.

(1)1
) 2
(3) 3
(4) 4

U I - Hipsl (S€T) &I IS 33 =T (Bfher) & gemar ¥

FHYUF II - HPHS! & 9 AT TWAT HDH3T & a5TH & TPl € & FANGH Pl G Hal ¢ |
IWITh HAF & Aol &, ara Bw 7w Aweul & & e 3o o1 ga9 Hifas:
1.oy= 1 3R 11 2=t o § 1

| o]

A I 3R I ot s €

YA [ B L e @Y 11 39T §

LF¥)

4 PAE T AT FTT N T ¥ |
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=40029] Question Description : general_paper_genarel paper_set 31_english_q33
2[Option ID=40030]

3[Option ID=40031]
4[Option ID=40032]

Sl. No.34
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Which of the following statements is/are true regarding RAM ?

A. RAM is non-volatile

B. RAM has a slow access time relative to other storage devices,
C. RAM can be static or dynamic (SRAM/ DRAM)

D. RAM holds the BIOS.

Choose the correct answer from the options given below:

1.D only
2. Aand B only
3.Conly
4, C and D only
(1) 1
(2) 2
3) 3
(4) 4




I (3RUTH) & ey H Fafia § Y e A puaadi g 0
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1.%dd D

2. PAAAHARB

3. A C

4.%ad C SR D

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=40033] Question Description : general_paper_genarel paper_set 31_english_q34
2[Option ID=40034]

3[Option ID=40035]
4[Option ID=40036]
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A set of photographs has been taken for a wedding. All the guests are to be sent digitally stored copies through
the ordinary postal service. There are 50 photographs and each photograph is between 1.8 and 2.5 megabytes

in size. If 'A' represents the maximum storage space required for a set of photographs, 'B' represents a suitable
medium to use for the copies to be sent to the guests, and 'C' represents a valid reason for choosing a medium,

then (A", B','C") =

1. (125 megabytes, CD/Low capacity flash memory. Good for mailing/inexpensive to buy)

2. (90 megabytes, CD/Low capacity flash memory, Good for mailing/inexpensive to buy)

3. (125 megabytes, Hard Disk, inexpensive to buy)
(90 megabytes, SSD, Good for mailing)

4.

(4) 4

Ua fa1s 5q ol &1 ue I &= 7 § | it Al @1 el sieia U 9 ysiia wioal 9w s1a
AT Nel ST 150 A g iR UG A BT PR 18925 AMEsc dad g | G Rl F ud Ac &
foTU ofUfEr S ay YSRUIRIM ‘A" B, A &1 UoH arell wiadl & Y Suged Hed B' 8 3R 'C
T T & 90 PT 94 PRI S, T (A 'B''C) = .

1. (125 TATETSe, AT &mar W™l THRI, ST% U901 84 81 Ekie oq &H |didi)
2. (90 TRTEIS e, HIS1/FH amFal iRl HHK, ST6 U9 §q SBIEkie §q &H @4
3. (125 iTaTge, BTS (5%, @iiad gq $H @didn)

4. (90 TMETSE, THUHSI, ST HYUT 6 30

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=40037] Question Description : general_paper_genarel paper_set 31_english_q35
2[Option ID=40038]
3[Option ID=40039]
4[Option ID=40040]
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Match List I with List IT

LISTI LISTII
(Sustainable Development Goal No.)|(Goal to be achieved)|
A |SDG-1 1. |Zero hunger
B [SDG-2 1. |Quality education]
C. |SDG-3 I11. [No poverty
D |SDG-4 IV. |Goed health

Choose the cotrect answer from the options given below:

. AL B-I, C-11, D-IV
. A-IIL, B-I, C-IV, D-II
. A-IV, B-I, C-III, D-I
. A-II, B-IV, C-I, D-III
1) 1
(2) 2
3) 3
(4) 4

el 1 91 gl 11 H THaH Sy

| B

e Y

[ 1 (YR ST |6 TSRt 11 (|84, (o8 U (6T 91 §)
A [Tg a1 I [ sl

B. [tg 22 1L [oTaarRdy T2

C. [ag 3ol -3 1L [P1g MeHar Tl

D [0 315 4 V. |3{=8] W
FHafaad famedl & 9 9l SR &1 99 DI :

. A-IIL, B-I, C-I1, D-IV
. A-IIL, B-I, C-IV, D-II
. A-IV, B-1I, C-III, D-I
. A-IL, B-IV, C-I, D-III
1) 1
(2) 2
3) 3
(4) 4

e L D

1[Option ID=40041] Question Description : general_paper_genarel paper_set 31_english_q36
2[Option ID=40042]
3[Option ID=40043]
4[Option ID=40044]
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The International Solar Alliance was launched by France and India on the side-lines of

.COP 25

. COP 24
3.Cop23
4. COP 21

1)1

(2) 2

(3) 3

(4) 4

RIS IR ©iY &1 YR @ Wi gR1 Fafciad § O e arean 5w i 7 o 2

1. Itafidi 25
2. refidt 24
3. i3y 23
4. Tlafdl 21

11

() 2

(3) 3

(4) 4

ba =

1[Option ID=40045] Question Description : general_paper_genarel paper_set 31_english_q37
2[Option ID=40046]
3[Option ID=40047]
4[Option ID=40048]
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Which of the following gases is most abundant in Biogas ?

1. CH, (Methane)
2. CO, (Carbon dioxide)
3. H,S (Hydrogen sulphide)
4. H, (Hydrogen)
1 1
(2) 2
3) 3
4) 4

Frfafad & I w1, S99 @mane) § gaifte mrEd e

. CH, (H1g)
. CO, (PTEH SRS S)
.H,$S (BTE3Io Hehlgs)

H, (BTggIoH)

—

(PR

o

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=40049] Question Description : general_paper_genarel paper_set 31_english_q38
2[Option ID=40050]

3[Option ID=40051]
4[Option ID=40052]
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Match List I with List IT

LISTI LISTII
(Toxic Metal of MSW) (Source)
A, JArsenic I. [Paints
B. [Lead II. [Rubber products
C. Mercury II1. [Wood preservatives
D. |Zinc IV. [Fluorescent lamps

Choose the correct answer from the options given below:

. A-IIL, B-I, C-IV, D-II
. A-IIL, B-I, C-I1, D-IV
. A-I, B-IM, C-1I, D-IV
. A-II, B-TII, C-1V, D-I
(11
(2 2
(3) 3
(4) 4

ol 1 31 Gl 11 F THar Siforg

b —

I Y

a1 1 (UH.0H.S 90, $1 [quen aed)| | 9o 11 (81)
A D L [0=9
B. [dr Il &% 3G
c. [m 111 [®TE ulie®
D. [or (@) IV. [afdgiesiie oy
Fafaied [deedl § 3 9l 3Tk &1 98- HIfolU :
1. A-IIL, B-1, C-IV, D-II
2. AL B1, C-II, D-IV
3. A-I, B-ITI, C-II, D-IV
4. A-IL, B-TIL, C-IV, D-I
1)1
(2) 2
(3) 3
(4) 4

1[Option ID=40053] Question Description : general_paper_genarel paper_set 31_english_q39




2[Option ID=40054]
3[Option ID=40055]
4[Option ID=40056]
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It is expected that by the end of 21st century, CO, concentration, if the present trend continues, can reach up to
the level of

. 450 ppm

. 600 ppm

. 500 ppm

. 1000 ppm
1) 1

(2) 2

(3) 3

(4) 4

Tg SN B SIRi ¢ & 217 Tarsd] & co, =501 1 Fou Hgfl SR 381 <t g Fafafea o ¥ iy
TR I U9 9l § 2

b =

I Y

450 ppm

. 600 ppm

. 500 ppm

. 1000 ppm
1) 1

() 2

(3) 3

(4) 4

e L b

1[Option ID=40057] Question Description : general_paper_genarel paper_set 31_english_q40
2[Option ID=40058]
3[Option ID=40059]
4[Option ID=40060]
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Which of the following universities has been designated as UGC -CARE university for the castern region of
the country 7

. North-Eastern Hill University, Shillong
. Calcutta University, Kolkata

. Sikkim University, Sikkim

. Tezpur University, Assam

e Lo b o

1)1
(2) 2
3) 3
(4) 4

Prafefad # & i e 51 3w & 1ff 87 3 forg 7ol - oems e & & § By fra

TIg 2

A1 g e giRaiid, Reim
. Sl [qyfdemey, Bl
. ridew fayfaeney, Rfgsa

. doqR fayfaeren, s

(1) 1
) 2
(3) 3
(4) 4

e L b2

1[Option ID=40061] Question Description : general_paper_genarel paper_set 31_english_q41
2[Option ID=40062]
3[Option ID=40063]
4[Option ID=40064]
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Given below are two statements :

Statement I : NITI Aayog. a policy think-tank of Gol, is a statutory body.

Statement II : In NITI Aavog, the acronym NITI stands for National Institute for Technology Initiatives,
In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement [ is true but Statement II is false.
4. Statement I is false but Statement II s true.

1) 1

(2) 2

(3) 3

(4) 4

FHYF [ - AT PR Bl T =g oRe-AA5d, Afa H=ET 6 Tifafes & &
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YA [ B L e @Y 11 39T §
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(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=40065] Question Description : general_paper_genarel paper_set 31_english_q42
2[Option ID=40066]

3[Option ID=40067]
4[Option ID=40068]
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Which of the following are considered as problems of higher education in India ?

A. Dominance of campuses established by foreign universities.

B. Lack of quality instruction in the university system.

C. Need for expansion of infrastructural facilities.

D. Use of regional languages for instruction is yet to go a long way.
E. Strong control of states over central universities.

Choose the correct answer from the options given below:




Fofafed 7 9 fea-fm &1 yRa 1§ 9= el & i AAr 9 g 2

A. faci fayfaemerdl gRT wfid aRERi &1 9= |

B. fayfaema saa®n § ToEargul SFIERH &1 344 |

C. TERTATT Giaursdi & fawdR & fawgd |

D. 3SR og &A1 HWisii & war | onfl da1 gHg @ g o |
E. $ai0 [gyfdenadl W I1sg &1 S 840 |

= fow ow [Oeedl & O O8 39¢ &1 934 Hifaw:

1.Pdd A, B, C
2.$ddB,C,D
3.%9dC,D,E
4. PAdA, D, E
1
(2) 2
(3) 3
(4) 4

1[Option ID=40069] Question Description : general_paper_genarel paper_set 31_english_q43
2[Option ID=40070]
3[Option ID=40071]
4[Option ID=40072]

Sl. No.44
QBID:31201044

The university of Nalanda was a

1. Technical university
2. Monastic university
3. General university
4. Medical university

1)1

(2) 2

3) 3

(4) 4

Treier fayfaemey Fafafaa d S @ ur»

1. dF-I®] [ayfaeme™
2. 43 fayfqemea
3. g fayfaemey
4. TFeiferea fayfaenem
1) 1
) 2
(3) 3
(4) 4

1[Option ID=40073] Question Description : general_paper_genarel paper_set 31_english_q44
2[Option ID=40074]
3[Option ID=40075]
4[Option ID=40076]

Sl. No.45
QBID:31201045

National Sample Survey Organization (NSSO), responsible for undertaking detailed employment and
education based survey, was established by

1. Indian Institute of Science (IISc)
2. Indian Statistical Institute (ISI)
3. Ministry of Human Resource Development (MHRD)
4, Directorate of Education (DoE)
1)1
(2) 2
3) 3
4) 4




HAEIUT-SYTRT ASTIR SR R & IR H fajd Faan & e SwRard! APty wiias aaau §16-
(TH.09.09.31) 3 Fgfeied o 9 f&us grr g &1 g ot 2

1. YR fa5m O (31Ts. 318, 08 )
2. YR1g Gifea iy TR (3115, T9.3013.)
3. G 1Y g THe (TH.U9.3R.S1.)
4. Freqr Freme (S1ai g
)1
() 2
(3) 3
(@) 4

1[Option ID=40077] Question Description : general_paper_genarel paper_set 31_english_q45
2[Option ID=40078]
3[Option ID=40079]
4[Option ID=40080]

Sl. No.46
QBID:31201046
Read the following passage and answer the question :

China is India's second biggest trading partner after the United States. In 2021-22, India-China bilateral trade
stood at $115.83 billion, which was 11.19 per cent of India's total merchandise trade of $1.035 billion. The US
was just a notch above, with 11.54 percent ($119.48 billion) share.

Till 20 years ago, China figured at the 10th position (2001-02) or lower (12th in 2000-01; 16th in 1999-00;
18th in 1998-99).

However, from 2002-03; it started an upward march and became India's top trading partner in 2011-12. In the
next year, the UAE dislodged it to the second place. However, China bounced back and again became India's
top trading partner in 2013-14, and remained there till 2017-18. For the next two years (2018-19 and 2019-20),
the US was at the top but in 2020-21, China again became India's number one trading partner.

While China and the US have both been India's top trading partners in recent years, there is a big difference
between the trade with the world's two largest economies. While with the US, India had a trade surplus of
$32.85 billion during 2021-22, with China, 1t had a trade deficit of $73.31 billion, the highest for any country.
In fact, India's trade deficit with China during 2021-2022 was an all time high.

fgfafad Y @1 ud iR vy @1 SR S -

=, SAR® & g YR &1 Ja4 991 AUR-TRIER § | 99 2021-22 H HRA-=H fguefty 2R 115.83
faferae MRt STeR 1 U1, ol YURd & $d 1,035 [6fe SMRST SIoR & Y04 AMUR &1 11.10 WA ol
| EfeepT T fRwT 11.54 UFAwid (119.4¢ fSfem= spiRet SeR) 309 Uis1 81 IR o7 | 19 a8 ugd 0@
T BT YRd & 1Y AR (2001-02) T 1041, T1 FHER (2000-01 F 1241, 1999-00 H 167 3R 1998-99 &
187) R AT | §dH, 2002-03 T T IHTH 7 ARF B 3R T8 2011-12 F YR BT Y HTIR-
SR & 141 | e 3Ra SHRIG A 3Td a¥ § 34 fgdia ®iH R a9 a1 | 39 diagg 91

IS AR 3R 2013-14 T YR &1 LY MR HYFTGR &7 747 3R 98 39 RIH W 2017-18 TP &1
<ET | 3RTS &1 a8 (2018-19 3R 2019-20) T AT 3mReT = &R o1, A 2020-21 F FH GF: URA FT
FER-97 IR HISiER § 747 |

T & auf § 9 3R AT 4Rd & Uiy ATIR TISieR 8 ©, oiad [0y &1 &l Jaiite gaf
SifoaamTaif & 1Y 39% ATUR & &1 U 981 3R & | HIRd BT HRT & 1Y 2021-22 F SR 32.85
fafergd SHRST STeR &1 AR SAURY T, Sdid 19 & WY 73.31 fafcga RS STeR &1 AR 9rel
m,ﬁﬁ%ﬁéﬂ%ﬁuw% | TRG: 2021-22 P ERME 919 & WY HRd P AR °IeT 36 TH P
T E 3=ad o7 |

Asgsuming that India's merchandise trade with a country 'X' was 5% of its total merchandise trade, this amount
will be

1. $115.83 billion
2. $51.75 billion
3.$119.48 billion
4. %$73.31 billion

1)1

2) 2

3) 3

(4) 4

g HH T R b YR D1 48 X' & HIY YUg FIR SHD P Yug ATIR BT 5% YT, THBT AR
FrafaRad & 9 fdt grit 2

. 115.83 fafermq sARe! SR
. 51.75 fafemq AR SR
. 119.48 fafermd SHR®T STeR
. 73.31 9o 3AR® SIeR

ko =

o Taa




1) 1

(2) 2

3) 3

(4) 4

1[Option ID=40081] Question Description : general_paper_genarel paper_set 31_english_q46
2[Option ID=40082]

3[Option ID=40083]
4[Option ID=40084]

Sl. No.47
QBID:31201047
Read the following passage and answer the question :

China is India's second biggest trading partner after the United States. In 2021-22, India-China bilateral trade
stood at $115.83 billion, which was 11.19 per cent of India's total merchandise trade of $1.035 billion. The US
was just a notch above, with 11.54 percent ($119.48 billion) share.

Till 20 years ago, China figured at the 10th position (2001-02) or lower (12th in 2000-01; 16th in 1999-00;
18th in 1998-99).

However, from 2002-03; it started an upward march and became India's top trading partner in 2011-12. In the
next year, the UAE dislodged it to the second place. However, China bounced back and again became India's
top trading partner in 2013-14, and remained there till 2017-18. For the next two years (2018-19 and 2019-20),
the US was at the top but in 2020-21, China again became India's number one trading partner.

While China and the US have both been India's top trading partners in recent years, there is a big difference
between the trade with the world's two largest economies. While with the US, India had a trade surplus of
$32.85 billion during 2021-22, with China, 1t had a trade deficit of $73.31 billion, the highest for any country.
In fact, India's trade deficit with China during 2021-2022 was an all time high.

Fafafad MY @1 ue IR Uy &7 3R 2o :

=, 3ARE & 918 YR &1 Ja4 991 AUR-TRIER § | 99 2021-22 H YRA-= fguefta SR 115.83
faferae MRt SR 1 U1, ol URd & $d 1,035 4o S@Re! SToR & Uvd SUMUR &1 11.10 WA U1
| SR BT e 11.54 WA (119.48 fafemm SRS SIER) 599 UiS1 €1 SR o7 | 919 7Y Ugd a&
T BT YRT P WY AMUR (2001-02) F 1087, T1 FHR (2000-01 F 124, 1999-00 F 1697 3R 1998-99 T
187) R oT | S, 2002-03 T T I 7 SRT B 3R 8 2011-12 F YR BT S ATIR-
HHER & 741 | e 3RE SHRIG = 3Td a4 § 34 fgdig ®H R Rawe! &1 | 59 aiagg 91 4

I AR 3R 2013-14 H YR &1 LY AMUR YFTGR &7 747 3R 98 39 QH W 2017-18 T® &1
ET | 3Tc &1 aNf (2018-19 3R 2019-20) & fou SRepT 2N 4R o1, S 2020-21 T 9H U9 YURA &1
FER-G IR FIEER & 7741 |

BT & gt # 11 3R @@ YRd & Y R I1eier 38 ©, Tafe [0y P &l gaifie st
SfeaamTail & U1y 3% IR & &1 U 651 3R € | HIRd BT ERaET & 1Y 2021-22 F SR 32.85
Ao MRS STER &1 MR SHERY U1, S@id 94 & 1Y 73.31 fafee smRe! STeR & sagR g9rel
mﬁﬁ%tﬁém%ﬁqwé | T 2021-22 P GRME 919 & WY YR B IR 9T 3Hd P &
T E 3=ad T |

China has been India's top trading partner in

A 2002-2003
.2011-2012
.2012-2013
.2013-2014
. 2020 -2021

mgn W

Choose the most appropriate answer from the options given below:

1. A, B and C only
2.B.Cand D only
3.B.Dand E only
4. C, D and E only




= fo77 auf # YRd &1 9 SR 918ieR U1 2

.2002-2003
2011-2012
2012-2013
.2013-2014
2020-2021

e few ore RAeeul # § e SUYH ST H TAH HIFAT:

1. FaAA, B 3R C
2. %EAB. C ARD
3. %dd B, D ARE
4.%ddC,DIRE

1) 1
) 2
(3) 3
(4) 4

MO 0w

1[Option ID=40085] Question Description : general_paper_genarel paper_set 31_english_q47
2[Option ID=40086]
3[Option ID=40087]
4[Option ID=40088]

Sl. No.48
QBID:31201048
Read the following passage and answer the question :

China is India's second biggest trading partner after the United States. In 2021-22, India-China bilateral trade
stood at $115.83 billion, which was 11.19 per cent of India's total merchandise trade of $1,035 billion. The US
was just a notch above, with 11.54 percent ($119.48 billion) share.

Till 20 years ago, China figured at the 10th position (2001-02) or lower (12th in 2000-01; 16th in 1999-00;
18th in 1998-99).

However, from 2002-03; it started an upward march and became India's top trading partner in 2011-12. In the
next year, the UAE dislodged it to the second place. However, China bounced back and again became India's
top trading partner in 2013-14, and remained there till 2017-18. For the next two years (2018-19 and 2019-20),
the US was at the top but in 2020-21, China again became India's number one trading partner.

While China and the US have both been India's top trading partners in recent years, there is a big difference
between the trade with the world's two largest economies. While with the US, India had a trade surplus of
$32.85 billion during 2021-22, with China, 1t had a trade deficit of $73.31 billion, the highest for any country.
In fact, India's trade deficit with China during 2021-2022 was an all time high.

fgfafad Y @1 ud SR vy &1 S S -

M, ARSI & a8 YRT BT 964 991 AMIR-TRIER & | a4 2021-22 H YRA-IH fgyefia amgR 115.83
faferae 3R STaR BT U1, St YR & $d 1,035 faferm SRS SIoR & U040 SUMMR &1 11.19 WA o7
| 3ETepT &1 few 11.54 UfAwid (119.48 el smRet SIeR) 509 Yie1 €1 SR o7 | 9 od ugd 0@
9 T YRd & U1 AR (2001-02) F 10@1, 91 FHaR (2000-01 F 1241, 1999-00 H 1687 3R 1998-99 &
1897) R AT | TS, 2002-03 T T I 7 SRF B 3R 98 2011-12 H YR F1 IS ATIR-
ATHER & 741 | e 3Ra SHRIG A 3Td ad 8 34 fgdia ' R Rawe! {1 | 39 diagg 91

TSI AR 3R 2013-14 T YRT BT Y SOR YIFTER 89 7491 3R 98 55 ™ W 2017-18 T& &1
ET | 3TC &1 aNT (2018-19 3R 2019-20) P oY SmiRepT =N 4R o1, Wb 2020-21 T 91 U4 URA &1
JER-9 IR ISER &4 74T |

BT & auf § 917 3R 3@ YRd & 2 IR 2R TR ©, Safd fay 31 31 gaifte st
Srferaruia & 1Y 396 SR & 99 U 981 3ia ¢ | HIRd BT ARSI & T1Y 2021-22 F SR 32.85
faferT= MR STeR &1 MR U= U7, Said =19 & 1Y 73.31 faferod 3mRet STaR &1 SUR el
mﬁlﬁ%ﬁéﬂ%ﬁmm% | TR 2021-22 P GRM =19 & "y HRA B ATIR °IET 39 0P &
Jag H =ad ol |

Identify the countries which have been India's top trading partner in a given financial year during the last five
years :

A. China
B. UAE
C.HU§

Choose the correct answer from the options given below:

.Aand B only
.Band C only
.Aand C only
A Band C

b o=

S )




(1) 1
(2) 2
(3) 3
(4) 4

3 391 Pt Tg=I= St ol f3rd Ui vt & SR US U T a9 a¥ | YRd & ¥iY IR 98ieR @ ©

A TH
B. TYad 3RE SERM (GUE.)
o

A fqu v fasedl & @ HaQ IUZH I@ A AT HifST:

1.Pad A IR B
2. PaaAB AR C
3. PAAAMRC
4. A B3RC

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=40089] Question Description : general_paper_genarel paper_set 31_english_q48
2[Option ID=40090]
3[Option ID=40091]
4[Option ID=40092]

Sl. No.49
QBID:31201049 ]
Read the following passage and answer the question :

China is India's second biggest trading partner after the United States. In 2021-22, India-China bilateral trade
stood at $115.83 billion, which was 11.19 per cent of India's total merchandise trade of $1.035 billion. The US
was just a notch above, with 11.54 percent ($119.48 billion) share.

Till 20 years ago, China figured at the 10th position (2001-02) or lower (12th in 2000-01; 16th in 1999-00;
18th in 1998-99).

However, from 2002-03; it started an upward march and became India's top trading partner in 2011-12. In the
next year, the UAE dislodged it to the second place. However, China bounced back and again became India's
top trading partner in 2013-14, and remained there till 2017-18. For the next two years (2018-19 and 2019-20),
the US was at the top but in 2020-21, China again became India's number one trading partner.

While China and the US have both been India's top trading partners in recent years, there is a big difference
between the trade with the world's two largest economies. While with the US, India had a trade surplus of
$32.85 billion during 2021-22, with China, it had a trade deficit of $73.31 billion, the highest for any country.
In fact, India's trade deficit with China during 2021-2022 was an all time high.

Fafafad MY @1 ue IR Uy &7 3R 2o :

=, AR & 9e YR &1 Ja4 951 AUR-UEER § | 99 2021-22 H YRA-=H fgUefta 3R 115.83
faferae MRt STeR 1 U1, Sl YR & $d 1,035 4o S@Re! SToR & Uvd UMUR &1 11.10 Uid<Td Ul
| SR BT e 11.54 WAwId (119.48 fafemm SR®! SIER) 599 UIs1 €1 SR o7 | §19 oY Ued d&
T $T YRA & 1Y SUR (2001-02) T 101, 1 FHR (2000-01 T 1241, 1999-00 H 1637 3R 1998-99 T
187) R oT | T, 2002-03 T I I 7 SRT B 3R 98 2011-12 F YR BT WY ATIR-
HISER &9 T | HgE SRd SR A SRl gy H 3 fgdiy R R 9@ (33T | 58 §Tavg 91 4
GERT 3BT AR 37R 2013-14 H YR &7 2N MR YRR 9 T/ 3R 98 58 R W 2017-18 TH &1
G | 3FTA &1 auf (2018-19 3R 2019-20) & g 3Afas 2 0= o1, A 2020-21 & I G YURA &1
FER-G IR FIEER & 7741 |

BT & gt § F17 3R @R YRd & 2 R Ieier 38 ©, ale [0y 31 3 galfve st
rfeoaTail & 1Y 39% IR & &9 U §81 3R € | HIRd BT 3HRaET & 1Y 2021-22 & SR 32.85
AT SRS SIER &1 IR SHERY o7, S@id 919 & 91y 73.31 fafes smRe! STaR & sagR 9rel
mﬁﬁ%tﬁém&iﬁqw% | T 2021-22 P SR 919 & 1Y YR B IR 9T 39 P b
T E 3=ad T |




Arrange the following financial years in terms of China's improving position as India's trade partner

.2012-2013
. 2000-2001
.2015-2016
. 1998-1999

Oowpe

Choose the correct answer from the options given below:
.D,B,C,A

i
2
3.
4

wouo
o
owp
=00

1)1
) 2
3) 3
(4) 4

Fafarad fad avl &1 YRd & I9R I9iER & =4 1 5[ &1 9ad [2Jfd & de o orafyd i |

2012-2013
. 2000-2001
.2015-2016
. 1998-1999

= 2w o aeedr & O OEL 3OE @ 94 I
.. B,

gowp

t o

J‘*f‘)f‘)ﬁ"

C.
LA,
. B,
, G,

o
Bool
UCE'CU

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=40093] Question Description : general_paper_genarel paper_set 31_english_q49
2[Option ID=40094]

3[Option ID=40095]
4[Option ID=40096]

Sl. No.50
QBID:31201050




Read the following passage and answer the question :

China is India's second biggest trading partner after the United States. In 2021-22, India-China bilateral trade
stood at $115.83 billion, which was 11.19 per cent of India's total merchandise trade of $1,035 billion. The US
was just a notch above, with 11.54 percent ($119.48 billion) share.

Till 20 years ago, China figured at the 10th position (2001-02) or lower (12th in 2000-01; 16th in 1999-00;
18th in 1998-99).

However, from 2002-03; it started an upward march and became India's top trading partner in 2011-12. In the
next year, the UAE dislodged it to the second place. However, China bounced back and again became India's

top trading partner in 2013-14, and remained there till 2017-18. For the next two years (2018-19 and 2019-20),

the US was at the top but in 2020-21, China again became India's number one trading partner.

While China and the US have both been India's top trading partners in recent years, there is a big difference

between the trade with the world's two largest economies. While with the US, India had a trade surplus of
$32.85 billion during 2021-22, with China, it had a trade deficit of $73.31 billion, the highest for any country.

In fact, India's trade deficit with China during 2021-2022 was an all time high.

rafafad Terie o1 ue $ik Uy &1 JaR alfod :

M, SARST P T8 YRT BT 964 991 AIR-TRER & | T4 2021-22 F YRA-IH fguefia R 115.83
faferge smRet STeR 1 U1, St HRd & $d 1,035 4o SmRS! SIoR & YUd SUMUR &1 11.19 WA= Ul
| 3T T few 11.54 Ufawid (119.48 Tl spifet SieR) 509 Yis1 € SR o7 | diu od ugd 0@
= @7 YRd & I ®M9R (2001-02) F 10@, 91 FEaR (2000-01 & 124, 1999-00 H 167 3R 1998-09 &
1897) R T | S, 2002-03 T T I 7 SMRT B 3R 98 2011-12 H YR BT IS ATIR-
HISIER & 7T | HYa SRd SR - SRTe ay 1 39 fadiy R R E9®T (337 | S8 qravg 9

IBTA ORI 3R 2013-14 B HRT 1 WY SR HTHER & TAT 3R 98 59 WH | 2017-18 TH &4
ET | 3TC &1 aNT (2018-19 3R 2019-20) P fATQ SmiRepT =AY 4R o1, b 2020-21 T 9H U7 URA &1
48R-9 IR IRIER &4 74T |

BT & auf & 917 3R 3meT YRd & 2 IR IEieR TR §, Safd fay 31 31 gaifte st
spfergrsl & I1Y 39 IR & d19 U 991 3t & | G PT ARSI & T1Y 2021-22 F SR 32.85
e MRS STaR &1 AR HERY uT, Sieid =919 & 1Y 73.31 fofermd 3MReT STaR & YR el
o, St ool 2t 3=1 & o0 S=9aw § | 9 2021-22 & &R = & WY YRd 1 AUR 9121 39 % &

T A IEad o7 |
Given below are two statements :

Statement I : India had a trade surplus with China in 2021-22.
Statement II : India had a trade surplus with US in 2021-22.
In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4, Statement I is false but Statement IT is true.

(1)1

(2) 2

3) 3

(4) 4

=t g suea Bw aw §
HIF [ - 2021-22 & O & 1Y ARG &7 GUR HF9T a7 |

YA I - 2021-22 # AT & AT HRT H AR JTAT 27 |
IR HYUT & el &, S few aw fawedl d O o8 391 1 === fifere:
.oy 1 3 I 24 geg &1

2.5 I 3R I 2 e §

3,699 [ 5cg &, afha 39 11 39T & |

4. U I FEcT &, ot o II 50 & |
(1) 1
(2) 2
@3) 3
(4) 4

1[Option ID=40097] Question Description : general_paper_genarel paper_set 31_english_q50




2[Option ID=40098]
3[Option ID=40099]
4[Option ID=40100]

Paper II : 58-Law

Sl. No.1
QBID:158001

In which country the Supreme Court has declared that independence of judiciary is a part of basic feature of the
Constitution?

1. Canada and USA

2. USA

3. India

4. India and Switzerland

11

(2) 2

(3) 3

4) 4

fFrfaRad 7 9 {6y <=1 & I graTerd A 99on 1 § fb ArTieresT &1 sl iU &1 SRy d
YT BT HIAT G 2

1. DIST SR Y I SHRD]
2. e Aoy AR

3. YRd

1) 1

() 2

(3) 3
(4) 4

=

1[Option ID=40101] Question Description : law_law_set 1_english_q1
2[Option ID=40102]
3[Option ID=40103]
4[Option ID=40104]

Sl. No.2
QBID:158002

Regarding Freedom of Information or right to information which among the following countries have passed an
enactment?

1. India Only

2. India and UK Only
3. India, USA and UK Only
4. USA and UK Only
(1) 1
(2) 2
3) 3
(4) 4
Y1 &1 WaAdl YA YA BT HUBR & aR H HgicaRad 3 fb=1 <=1 # f-as uikd g 1 ¢ 2
1. ad HIRd
2. Hded HRA 3R Y13 S fbireH
3. Hdd HRA, Ggad A ARSI SR gce fhisH
4. Had Y& AT ARSI 3R FA5CS hireH
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=40105] Question Description : law_law_set 1_english_q2

2[Option ID=40106]
3[Option ID=40107]
4[Option ID=40108]




Sl. No.3
QBID:158003

The concept of 'rule of law' contains three principles. These three principles in an organized form were
propounded by:

1. Aristotle

2. Manu

3. Prof. RWM Dias
4. Prof. AV Dicey
11

) 2

(3) 3

) 4

Tafe] 1 I Bl hed1 & diF Rigid 3=afdy 8 | ualyd 9 8 34 1 Rigidi &1 wiaquiied foear man 2

1. 3RE] R
2. T gRI
3. Yl. 3R &g UH SITH R
4.91. ¢ . s gRI

1)1
) 2
3) 3
(4) 4

1[Option ID=40109] Question Description : law_law_set 1_english_q3
2[Option ID=40110]
3[Option ID=40111]
4[Option ID=40112]

Sl. No.4
QBID:158004

In context of Center-State relationship, the residuary power rests with the center (Parliament) in which of the
following countries?

1. India and Canada
. India and USA

. Canada and USA
. India Only

1) 1

) 2

(3) 3

4) 4

Po-y Yoy & oo # aafly widmi fea i § s (Fue) #ffed e 2

1. HRd AR BIST

2. YRd 3R Ggad AT 3ARBT
3. HIST 3R TGad AT SHARDI
. hdel HRd

(1)1
(2) 2
(3) 3
(4) 4

s b

=

I

1[Option ID=40113] Question Description : law_law_set 1_english_q4
2[Option ID=40114]
3[Option ID=40115]
4[Option ID=40116]

Sl. No.5
QBID:158005




'Separation of Powers' and 'distribution of powers' are:

1. the same concept
2. the different concepts
3. the same concepts in Australia and India
4. the same concepts in the USA but different in India
1) 1
2) 2
(3) 3
(4) 4

Qe T GUFHRT AR AT T [deaRor -

LU G TPTAE
2. AT HeheTHTd & n
3. JRSTCrT 3R YRA H Uh JHA YHeTHl o .
4. T I SARDT H T T fohg YRA H S{eHT-{eH b el o
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=40117] Question Description : law_law_set 1_english_qg5
2[Option ID=40118]
3[Option ID=40119]
4[Option ID=40120]

Sl. No.6
QBID:158006

The institution of 'Ombudsman’ was first developed in:

1. Switzerland
2. Sweden

3. South Africa
. Britain

11

2) 2

(3) 3

) 4

ADHUT DI TR FAyYH [dH o gs :

1. RgesRavs 4
2. Wieq 4
3. faur el |
4. fgeqd

1) 1

() 2

(3) 3

4) 4

+a

1[Option ID=40121] Question Description : law_law_set 1_english_q6
2[Option ID=40122]
3[Option ID=40123]
4[Option ID=40124]

Sl. No.7
QBID:158007

invalidated merely for not recording reasons when it had no duty to do so?

1. National Highway Authority of India V/s Madhukar Kumar (2022)
2. Municipal Council Neemuch V/s Mahadeo Real Estate (2019)

3. Tata Cellular V/s Union of India (1994)

4. Vijay Narayan Sharma V/s State of Rajasthan (2022)

@ 1

In which of the following cases, the Supreme Court has held that "Administration of Public Authority cannot be




) 2
3) 3
(4) 4

I=aq gy | fHafaRad fog are # g fuifa e fo die mideR! & U< & had SRl ol
SHYTARIT T B I SffAfemT= ol [l Sl Tehdl oid deb b 34 UHI 6= bl alfied = g1 ™1 gl 2

1. HRCTG ISR IASTHRT TIIHR0T §TH HEYb AR (2022)
2. TR gRYe i 9914 AeTed Igd ¥ (2019)
3. TTCT YGeR §-1H HRA-4Y (1994)
4. TRy "R THT G4 USRI I (2022)
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=40125] Question Description : law_law_set 1_english_q7
2[Option ID=40126]
3[Option ID=40127]
4[Option ID=40128]

Sl. No.8
QBID:158008

Which of the following articles of the constitution provides that "no discussion shall take place in the legislature
of a State with respect to conduct of any judge of the Supreme Court or of a High Court in the discharge of his

duties?"

1. Article 121
2. Article 127
3. Article 211
4. Article 212

11

(2 2

(3) 3

4) 4

Sifaer & Faliad 69 orw=bq H Ug WauTH ¢ o S=dd Uy 3Yal 3= Ay o [del ey
& 39 Dol &b Fdg H bl ft U 2=l & favg | I [quTHsd | ®is 9di Aol ®i g2

1. 3=5¢ 121
2. 3G 127
3. 3¢ 211
4. 3Jwq 212

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=40129] Question Description : law_law_set 1_english_q8
2[Option ID=40130]
3[Option ID=40131]
4[Option ID=40132]

Sl. No.9
QBID:158009

Which of the following section of IPC has been struck down by the Supreme Court in Joseph Shine V/s Union of
India (2018)?

v

. Section 309
ection 377
ection 497

1. Section 303
2
3

w

4,
1) 1
(2) 2
3) 3
(4) 4




SR T3 &8 YRA-9Y (2018), dla H I=dH U™ - YR au8 dlgdl & HafeRad &9 4RT &l
fqafusareidy s faarg 2

. YIRT 303
. YURT 309
CYIRT 377
CYURT 497

(1)1
) 2
(3) 3
(4) 4

LES T o B

=

1[Option ID=40133] Question Description : law_law_set 1_english_q9
2[Option ID=40134]
3[Option ID=40135]
4[Option ID=40136]

Sl. No.10
QBID:158010

Which Constitutional (Amendment) Act added Article 279A to the Constitution?

1. 1015t
2. 102nd
3. 99th

4.127H
1) 1

(2) 2

3) 3

(4) 4

Sfae o fobg dfqene (Gxiem) a9 gR1 3=a 279A &1 SliSI 1§ 2

1.101d

1[Option ID=40137] Question Description : law_law_set 1_english_q10
2[Option ID=40138]
3[Option ID=40139]
4[Option ID=40140]

Sl. No.11
QBID:158011
Which of the following Constitutional amendment to the constitution of India inserted Article 246A which deals

with special provision with respect to Goods and Services Tax:

.99t amendment
. 100t amendment
. 1018 amendment

. 10284 amendment
1) 1
(2 2
(3) 3
4) 4

LS R R

s




HRd & iy # Fgfefad @ 9 Siaye S gr1 9] iR a1 & e H f[999 Iudy J Fefad
A=5G 246A DI Tfeferd febar 7 2

g 996‘1”.14@%1?
. woaTﬂ"-zﬂﬂ:f
. 1011 H=MIeA
_102dl TRy
1) 1
() 2
(3) 3
(4) 4

£ o B2

1[Option ID=40141] Question Description : law_law_set 1_english_q11
2[Option ID=40142]
3[Option ID=40143]
4[Option ID=40144]

Sl. No.12
QBID:158012

Which of the following Articles of the Constitution of India deals with 'socially and educationally backward
classes' ?

1. Art. 115
2. Art. 338
3. Art. 338A
4, Art. 342 A

(1)1

) 2

(3) 3

(4) 4

L D
(s
[¥5]
oo b

 3SG 342D
1) 1
(2) 2
3) 3
(4) 4

=

1[Option ID=40145] Question Description : law_law_set 1_english_q12
2[Option ID=40146]
3[Option ID=40147]
4[Option ID=40148]

Sl. No.13
QBID:158013

In which of the following cases, the Supreme Court of India has held that mother can be natural guardian in
certain circumstances even in the presence of father?

1. Hanuman Prasad Singh V/s Bhagwati Prasad
2. Vishakha V/s State of Rajasthan
3. Gita Hariharan V/s RBI
4. Vina Sharma V/s Rakesh Sharma
1
(2 2
3) 3
(4) 4




YRA & I ey - FafaRad f9 te ame | ag /1 i Ardn efaua aRfufaal J fodr &t
Suufa § ot Hafife dee® gl gadi g 2

1. SIAT YIS R 9 HATad gEre
2. TA=IET §17TH TSR WA
3

a1 g I SARE18g
4. ST 2] S99 b |

(1)1
) 2
(3) 3
(4) 4

1[Option ID=40149] Question Description : law_law_set 1_english_q13
2[Option ID=40150]
3[Option ID=40151]
4[Option ID=40152]

Sl. No.14
QBID:158014

‘Who has divided the sources of law into two classes (a) Formal sources and (b) Material sources?

1. John Austin
. Savingny
Salmond

. Kelson
1

(2) 2

(3) 3

4 4

fgifea | O foum faf & wral &1 Sl 3l (a) 2fo=aie Wid 3R (b) difcad da | favrfoa fearg 2
1. S 3

o

=

W b

faTh
B3| [Ca 1
A

o

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=40153] Question Description : law_law_set 1_english_q14
2[Option ID=40154]

3[Option ID=40155]
4[Option ID=40156]

Sl. No.15
QBID:158015

Who among the following is considered the main exponent of the 'historical school of law'?

1. Jermy Bentham
2. Savigny
3. Duguit
4. Jerome Frank
1) 1
() 2
(3) 3
(4) 4

FafRaT o ¥ forg UfaeTiyes fafe-=mar &1 g iiarees HHET Sl 6 2

1. SRHT §2H
gz

’ e
4. SR\ ha

1) 1

W b




(2) 2

3) 3

(4) 4

1[Option ID=40157] Question Description : law_law_set 1_english_q15
2[Option ID=40158]

3[Option ID=40159]
4[Option ID=40160]

Sl. No.16
QBID:158016

Which of the following is considered law within the 'Austinian theory of Law'?

1. Laws set by political superior to political inferior
. Judge-made Law

. International Law

. Customs

(1) 1

() 2

(3) 3

4 4

FgfaRad o O [y 1afY & s a R<id & si=rid [y JFr o g 2

1. UaR oI 9t gRT 3faR IAsHIdd a1 & fau fFuffed fafe |
2. grrefter-FAfia fafer

3. 3By fafe
4, YU

(1) 1

2) 2

(3) 3

(4) 4

[FE I ]

=

1[Option ID=40161] Question Description : law_law_set 1_english_q16
2[Option ID=40162]
3[Option ID=40163]
4[Option ID=40164]

Sl. No.17
QBID:158017

'"Law and the Modern Mind' is authored by:

1. Justice Holmes
2. Jerome Frank
3. Justice Cardozo
4. Olivecrona

1) 1

(2 2

(3) 3

4) 4

AT UUS € HIS A58 TTHD G&ID P AW o:

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=40165] Question Description : law_law_set 1_english_q17
2[Option ID=40166]

3[Option ID=40167]
4[Option ID=40168]

Sl. No.18
QBID:158018




‘Who among the following jurists does not belong to 'the Sociological approach to law'?

1. Thering
2. Ehrlich
3. Maine
4. Roscoe Pound
11
) 2
(3) 3
4) 4

Fafaled o 9 o1 a1 fafee, 7Y & g 2man (SUrTH) 9 S T6l 6 2

1[Option ID=40169] Question Description : law_law_set 1_english_q18
2[Option ID=40170]
3[Option ID=40171]
4[Option ID=40172]

Sl. No.19
QBID:158019

"The movement of progressive societies has hitherto been a movement from status to contract", the most famous
generalization is given by:

. John Austin
. H. Maine
. Thibaut
4. Savigny
1) 1
(2) 2
3) 3
4) 4

TRTTORIE AT &1 faQ 3 d& wifkufa O wfder @t 3R 8l ¢, g Jalidd Ui Tmdi® ol FHifded A
U fpgd g1 fobar T g2

Sl fiRe
T 09
ARG

Sl

1
2
3

LFS T o I

i

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=40173] Question Description : law_law_set 1_english_q19
2[Option ID=40174]

3[Option ID=40175]
4[Option ID=40176]

Sl. No.20
QBID:158020

Which one of the following is considered to be a condition of penal liability?

1. ubi jus ibi remedium
2. volenti non fit injuria
3. damnum sine injuria
4. actus non facit reum nisi mens sit rea




(1) 1
(2) 2
(3) 3
(4) 4

frafead 7 9 6 cifse qiia B ub 2d AT S 2
1. gl oIy g« RAfSTH

2. il At e goIian

3. SHTH A5 3
4. UGy AH bide Ry [HR A= [be R

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=40177] Question Description : law_law_set 1_english_q20
2[Option ID=40178]
3[Option ID=40179]
4[Option ID=40180]

Sl. No.21
QBID:158021

"Ownership as a right over a determinate thing indefinite in the point of user, unrestricted in point of disposition
and unlimited in point of duration". This definition of ownership is given by:

1. Renner
2. Austin
3. Holland
4. Salmond
1) 1

(2) 2

(3) 3

4) 4

Topadl SraeniRd 9% IR SHUSR & ¥4 H Wi IUART i =P 9 AT, s7a- o1 =P 9 smfddiad sk
Y $1 2 9 o™i ¢ |I' Wiitid b g uRHNT fFgifdd 8 9 fhdd gr1 <l i g 2

1.3
2. 3fRe

3. Elf?lUS
4. {qIcHUS
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=40181] Question Description : law_law_set 1_english_q21
2[Option ID=40182]

3[Option ID=40183]
4[Option ID=40184]

Sl. No.22
QBID:158022

"I promise to pay B Rs. 50,000/- and to deliver him my black horse on 1st March next." This is:

1. a promissory note
2. a bill of exchange
3. an instrument payable on demand
4. not a promissory note
1
2) 2
(3) 3
4) 4




"H = <dl g o H FMevear st ugedl A1 &1 @ Bl 50,000 $UT Hed HHA SR U] HIal 9IS 3H
GRET HSM" T8 & -

1. 9999

2. f[aFHg U

3. /1T [T B4 U= Gy foRad
4. 9997 ol

1) 1

(2) 2

3) 3

4) 4

1[Option ID=40185] Question Description : law_law_set 1_english_q22
2[Option ID=40186]
3[Option ID=40187]
4[Option ID=40188]

Sl. No.23
QBID:158023

The case Bai Tahira V/s Ali Hussain Fidaalli (AIR 1979 SC 362) is related with :

1. Maintenance

2. Adoption

3. Inheritance

4. Option of Puberty
1) 1

() 2

(3) 3

4) 4

T3 dITeRT &4 3fefl gO fharerdl (T 313 3R1979 THHL 362) 1 de HafaRad # 9 Hefed ¢ -

1. YU gIyu]
2. P
3. favrgd
4. T G
1) 1
(2) 2
(3) 3
4) 4

1[Option ID=40189] Question Description : law_law_set 1_english_q23
2[Option ID=40190]
3[Option ID=40191]
4[Option ID=40192]

Sl. No.24
QBID:158024

In which of the following cases, Section 9 of the Hindu Marriage Act, 1955 has been declared unconstitutional?

1. Shanti V/s Rupesh
2. T. Sareetha V/s T.V. Subbaiah
3. Trithikaur V/s Kripal Singh
4. A.K. Kapoor V/s Union of India
1) 1
(2 2
(3) 3
(@) 4




afaiad 5 9 foq dre # fg=g [da1g offafad, 1955 Pt URT 9 1 srduiS giftd B fear man e 2

1. 9T 991 U9
2. 2. GRar 1 .1 geaan
3. B HR 9m fHura fiig
4. TP, YR &M HRd Y
1) 1
2) 2
3) 3
(4) 4

1[Option ID=40193] Question Description : law_law_set 1_english_q24
2[Option ID=40194]
3[Option ID=40195]
4[Option ID=40196]

Sl. No.25
QBID:158025

The sub-Agent is responsible for his acts to the Agent, but not to the Principal, except in case of :

raud
‘raud or misrepresentation
. fraud or wilful wrong
4. Principal himself undertaking the responsibility
1) 1
) 2
3) 3
(4) 4

Fgifhd d 3 o Rary Iu-siHedi oiu4 dd & feu sifHehdl & Ufd ItRer gidl ¢ 7 fo Hifcid &
ufd-

1. hIc
2. BYC YT G
3. DUC T SIS fhT 7T gy
4. Hlfci W94 29 a1 &l WihR HY I 8l
1) 1
(2) 2
(3) 3
(4) 4

=

1
2
3

=

1[Option ID=40197] Question Description : law_law_set 1_english_q25
2[Option ID=40198]
3[Option ID=40199]
4[Option ID=40200]

Sl. No.26
QBID:158026

Who among the following Judges of the Supreme Court has authored the judgement in leading case Seema V/s
Ashwani Kumar (2006) 2 SCC 78, which is related to the registration of marriage?

. Justice Hima kohli

. Justice Arijit Pasayat

. Justice Deepak Misra
. Justice P. N. Bhagwati
1

(2 2

(3) 3

(4) 4

e b =

=




S=aH AT & Hafalad J 9 foy reier 3 a1 s siHaR (2006) 2 THHRT 78 & UHE die H
(g1 ok foran B, Sl faarg & defiebror § defid § 2

1. Sifes few Sigal
2. SIReq aifvsita gard
3, SRy Sl A1
4. Sifeeq Ul . Yirad!

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=40201] Question Description : law_law_set 1_english_q26
2[Option ID=40202]
3[Option ID=40203]
4[Option ID=40204]

Sl. No.27
QBID:158027

Which of the following cases is not related to the "Tort of Negligence' ?

1. Donoghue V/s Stevenson

. Municipal Corporation of Delhi V/s Subhagvanti
. Ramesh Kumar Nayak V/s Union of India

4. Gloucester Grammar School Case

1) 1

2 2

3 3

(@) 4

faferiad # 9 B a1 a1 Ul & 3ha I Hefdd 781 ©

1. SIFNT g9H X [d-9-

2. Tt TR 1T S gHaTa=dl
3. T PAR AD §-H HRA T°
4. YRR TR T dIg

1) 1

(2) 2

(3) 3

4) 4

2
3

1[Option ID=40205] Question Description : law_law_set 1_english_q27
2[Option ID=40206]
3[Option ID=40207]
4[Option ID=40208]

Sl. No.28
QBID:158028
In which of the following cases, it was held that a 'contract to take and supply photographs' is a 'contract of sale

of goods'?

1. Love V/s Norman Wright (Builders) Ltd. (1944)

2. Newman V/s Lipman (1951)
3. Lee V/s Griffin (1861)
4. Robinson V/s Graves (1935)

1) 1

(2) 2

3) 3

4) 4




ﬁaif&agﬁﬁdﬂ HHl H, Tl a1 €1 775, fob "SI o 3R 38! STYfd Pt didal Hid fashy @1
dfdarg 2

1. 9d 991 A8 Uge (faeed) fafies (1944)
2. FgH S TeT9#H (1951)
3. ol & Uit (1861)
4. TG 9™ Yo (1935)
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=40209] Question Description : law_law_set 1_english_q28
2[Option ID=40210]
3[Option ID=40211]
4[Option ID=40212]

Sl. No.29
QBID:158029

In which of the following cases, the Privy Council has held that Doctrine of Acknowledgement' is a part of the
substantial 'Muslim Law of Inheritance’ and not a rule of Evidence?

1. S A Hussain V/s Rajjamma
2. Mohd. Amin V/s Vakil Ahmad
3. Mohd. Allahadad Khan V/s Mohd. Ismail Khan
4. Habibur Rahman V/s Altaf Ali
1) 1
(2) 2
(3) 3
) 4

FrafaiRad H 9 fovg dre | Yidl 1311 - ag YR fbar & siitRdipid o1 Rigia aRyd gRaH
ITRIYBR B B HET 8. - fob q1ed 1 FaH g 2

1. TH. U g1 &4 STHAT
2. HigHIE oI 917 i 3igHS
3. HigHe 3fcdlgale @M §-1H HigHIE 3 d 9l
4. GAIGIGH S 3fcdlt 3l
1) 1
) 2
3) 3
(4) 4

1[Option ID=40213] Question Description : law_law_set 1_english_q29
2[Option ID=40214]
3[Option ID=40215]
4[Option ID=40216]

Sl. No.30
QBID:158030

The leading case 'Ashby V/s White' was decided by :

1. Lord Denning
2. Peacock

3. Lord Holt
4. Viscount Haldone
11

(2 2

(3) 3

4) 4




U] S99 ®13e &I [HaRie arg Hulfd fdarmar 2

1. dis s gr

2. Uidhld gRI

3. @IS glee gRI

4. f[qp1de s @A gRI
1) 1

(2) 2

3) 3

(4) 4

1[Option ID=40217] Question Description : law_law_set 1_english_q30
2[Option ID=40218]
3[Option ID=40219]
4[Option ID=40220]

Sl. No.31
QBID:158031

Which of the following is not necessary for constituting the 'trespass’ under the Law of Torts?

1. By entering into the land

2. By remaining there

3. By unlawful intention

4. By doing an act affecting the sole possession
1) 1

2) 2

(3) 3

(4) 4

fafiRed # 9 I 91 s fafer & sief sifd=R &1 (fHfd 89 smawas 76l g 2

1. foft s aufe o1 off # yawr g

2. 98l S E ¥

3. fafe-faes e @

4. GH Bool bl YHITAT P & S I HIRA B I
o 2
3) 3
4) 4

1[Option ID=40221] Question Description : law_law_set 1_english_q31
2[Option ID=40222]
3[Option ID=40223]
4[Option ID=40224]

Sl. No.32
QBID:158032

Comparative public law is:

1. a principle of law

2. a body of written rules

3. a method of studying law

. a system of law in various jurisdictions especially recognized by United Nations

=

1)1
(2) 2
(3) 3
(4) 4

NEICCAGICACIDN

1. fafa-Rygid

2. Tafea ol &1 9g

3. fafd-sremge o1 ggld

4. faf¥re anfe Ry 61 faferes gurmell g Sl {92y U & Sy Y 99 gRI AR U &

@ 1




(2) 2

3) 3

(4) 4

1[Option ID=40225] Question Description : law_law_set 1_english_q32
2[Option ID=40226]

3[Option ID=40227]
4[Option ID=40228]

Sl. No.33
QBID:158033

"We the People" words are found in the constitution of:

ndia and USA

ndia Only

. India and Canada

ndia, USA and Canada

1
2.
3

—

4.
11
(2) 2
(3) 3
(4) 4

T ART Teal BT Ieord HferRad § 9 fbhd =il & diae= d g 2

1. HRA 3R GG I AR
2. $ad HRd

3. HRd 3R HATS]

1) 1

() 2

3) 3

(4) 4

1[Option ID=40229] Question Description : law_law_set 1_english_q33
2[Option ID=40230]
3[Option ID=40231]
4[Option ID=40232]

Sl. No.34
QBID:158034

In estimating the loss or damage arising from a breach of contract, the means which existed of remedying the
inconvenience caused by the non-performance of the contract.

1. can be taken into account
2. cannot be taken into account
3. must be taken into account
4. must never be taken into account
1) 1
(2) 2
3) 3
4) 4

fep il HfaaT - +vT g & yRUIRa=Y g3 g1 31 T & b H, 98 JIeH ol Hidel & 3{uTe 4 g
ST &1 FHITH 3 & [0 fFoH= 2 -

| RiER o sT s g |

2. R foaR T8t fFar ST s g |

3. 2P H gy TG g

4. R DIt [9ar =81 fbar ST d1feu |

11
(2) 2
(3) 3
(4) 4

1[Option ID=40233] Question Description : law_law_set 1_english_q34
2[Option ID=40234]
3[Option ID=40235]
4[Option ID=40236]




Sl. No.35
QBID:158035

Direction: Point out incorrect response - The purpose of the Information Technology Act, 2000 as set out in the
Preamble is:

1. To provide legal recognition for transactions carried out by means of electronic data interchange
2. To involve the use of alternatives to paper-based methods of communication and storage of information

3. To facilitate electronic filing of documents with international agencies

4. To amend the Indian Penal Code, 1860; the Indian Evidence Act, 1872, the Bankers Books Evidence Act,
1891 and the Reserve Bank of India Act, 1934

11

(2) 2

3) 3

(4) 4

& ; TTeld TR SRTd i -
A1 Uit SHfafam, 2000 D1 3534, ST o 31 7 IfewiRad ¢

1. STl S1eT 3fd: gRacd & Arend J fHU 70 YoagR & fafd aradl UaH S

2. HTTST MR GaR faferi SR Gaam HeRo & faded & IR UR 2= sl &1 W 2fie e

3. AP SHHBRUN (FRYT13MT) b WY SEATduil Dl Seldeii-p WIsfel ot gfasr wer & |

4. YR <8 Hfgdl, 1860, HIR T1&d HUFTH, 1872, dhde! 1&g HTH, 1891 3R HR o
d@ AAFTH, 1934 H TAE FAT

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=40237] Question Description : law_law_set 1_english_q35
2[Option ID=40238]

3[Option ID=40239]
4[Option ID=40240]

Sl. No.36
QBID:158036

In the Sale of Goods Act, 1930, "fault" means:

1. Wrongful gain or wrongful loss
2. Wrongful act
3. Wrongful act or default
4. Negligent and wrongful act
1) 1
) 2
(3) 3
4) 4

A1 fasha SMieTH, 1930 H HIR (A1) A AU &:

1. SIS TH 7 TeN g1

2. eIy &I

3. Afeyul & a1 9@ (fdsha)
4. AURaTe! 3R Yy SR

1)1
) 2
(3) 3
(4) 4

1[Option ID=40241] Question Description : law_law_set 1_english_q36
2[Option ID=40242]
3[Option ID=40243]
4[Option ID=40244]

Sl. No.37
QBID:158037




When a promissory note, bill of exchange or cheque is transferred to any person, so as to constitute that person
the holder thereof, the instrument is said to be

1. negotiated
2. indorsed
3. accepted
4. transferred
1) 1

(2) 2

(3) 3

4) 4

S1q Dy a9, faf e o a1 9 [t anfd 1 39 afad gRT 4R 6 & Jaie § $fdRd far sare
dl 98 ferad dgardl &:

1. Oy
2. ygifdrd
i 3

4. 3{dRd
1) 1
(2) 2
(3) 3
(4) 4

¥V

1[Option ID=40245] Question Description : law_law_set 1_english_q37
2[Option ID=40246]
3[Option ID=40247]
4[Option ID=40248]

Sl. No.38
QBID:158038

When the person to whom the proposal is made signifies his assent thereto, the proposal is said to be accepted. A
proposal, when accepted:

ecomes an agreement
ecomes a promise
ecomes a contract
ecomes a consideration

1.
2.
3.

oo o o

4,
1)1
) 2
(3) 3
(4) 4

Sfel bl ofard ford Rl f&ar SiTdl 8 39 UR S(u+il YgHfd Sl § ol Wdrd ¥dihd AT Si1dl & | URdld ihd
EH W -

4. YA d gl oIl ©
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=40249] Question Description : law_law_set 1_english_q38
2[Option ID=40250]

3[Option ID=40251]
4[Option ID=40252]

Sl. No.39
QBID:158039




‘Where an option to purchase land was exercisable by notice, in which of the following cases, it was held that the
mere posting of the notice which was never delivered, was not a valid exercise of the option?

1. Ram Das Chakrabarti V/s Cotton Ginning Co. Ltd. (1887)
. J.K. Enterprises V/s State of M.P. (1997)

. Hyde V/s Wrench (1840)

4. Holwell Securities Ltd. V/s Hughes (1974)

1) 1

(2) 2

3) 3

(4) 4

STl Gl Shr HH BT b b1 i1 g, (gifdd H 9 foby dre § gg a1 &l 713 i fb dhad S1b o el
WAl ST, (ST GREH HHi g1 g gl dg fdhed &1 94 N =gl ¢ |

1. IHCS Ihdd §-1H Dl [T A1 . (1887)
2.5, U §H UG I (1997)

3. B13S oM 3 (1840)

4. giaad FaaieisT feffds 9+ gl (1974)

(1)1
) 2
(3) 3
(4) 4

2
3

1[Option ID=40253] Question Description : law_law_set 1_english_q39
2[Option ID=40254]
3[Option ID=40255]
4[Option ID=40256]

Sl. No.40
QBID:158040

Direction: Fill in the blank with exact provision of law. "It is whether the Indian Penal Code (45 of 1860)
is or is not in force in the place where the coercion is employed."

1. Immaterial
2. Material
3. Not material
4. To be ascertained
11
) 2
(3) 3
) 4
. et 2 4 fafy 1 wel Suey ¥ (gfd 63 | |
g © b o7 I R UdiS= o1 Y417 bl Srdl & dgl HRd1g aUs HigdT (1860 T 45) Udd g Al

el
1. e
dIfd®

3. qifc 7

4. gt fear ST
(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=40257] Question Description : law_law_set 1_english_q40

2[Option ID=40258]
3[Option ID=40259]
4[Option ID=40260]

Sl. No.41
QBID:158041




Cyber crime is coverd and punishable under which of the following provision of IPC ?

A. Section 354
B. Section 354 C
C. Section 354 D
D. Section 354 E
E. Section 350

Choose the correct answer from the options given below :

(4) 4

ATSUT & febeT TTaeTl b Sfcia (HieiRad # I P U WIgeR SOR1Y FHferd Ud S8+ o

A, YT 354
B. YRT354 1]
C.YRT3544Y
D. YR[354 &
E. YRT350

=i feu 7 fa@ed! § U Uol 3T &1 904 Difoie:

1. %dd B, C

2. %dd B, C,D
3. $ddA.B.C.E
4. $ddB.C,D.E

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=40261] Question Description : law_law_set 1_english_q41
2[Option ID=40262]

3[Option ID=40263]
4[Option ID=40264]

Sl. No.42
QBID:158042




The Supreme Court of India in State of Bihar V. Kameshwar Singh (1952) laid down certain tests for discovering
whether any particular act constitutes a colourable legislation.

A. The court must look into whether a legislature used wide or vague words or not which may extend the
operation of an Act to subject ?

B. The court must look into the substance of the law and not to its form or the label which the legislature has
given it

C. The court must look at the object as well as the effect of the law

D. If the legislature proceeds under a legislative plan the court must read all the statutes constituting that plan
and determine the combined effect

E. The court must look into that repugnancy is in existance?

Choose the most appropriate answer from the options given below :

1. Aand B only

2.B, Cand D only
3.A,C,Dand E only
4. D and E only

1) 1
(2) 2
(3) 3
(4) 4

YRA & I=ad ey 3 Ve 3 [4gR g SR R (1952) # ug udt o & fore fs qar a1
w9y B [qurH 8, Siauyg wieur HyiRd e &

A, ORI 61 S B! 91ieC, o a fasadt faenfesT 3 samdes a1 3Ry Wee W fhU & 2rar =1gl, off
ol i & UdTa &l [dR R dhd 6 |

B. AAY Dl DI & Hddd Bl a1 =IfgT SR 7 b I ¥ Ul diadl bl ford faenfiesr 4 39 fean g |

C. AT B BT b 36,39 TUT THTG 1 &&= =gy |

D. afe e ol faumdt aismr & 2refiF &rd Sl ¢ 9 Taray &1 39 TSI & g4 arat g
<fafergl o1 ggHT 3R 3T WYdd WHId BT YR ST 18T |

E. 1T Bl 32y <@ Mgy & Sy § fajly &1 a3 [d9qH= 6 |

i< faU 7Y fdspedl 7 9 4 IUgdd SR b1 99 DI

1. %dd A 3R B
2. HAA B, C 3R D
3. Bdd A, C.D 3R E
4.HdAD 3RE

1) 1

() 2

(3) 3

4) 4

1[Option ID=40265] Question Description : law_law_set 1_english_q42
2[Option ID=40266]
3[Option ID=40267]
4[Option ID=40268]

Sl. No.43
QBID:158043




A resolution approving the proclamation of emergency under Article 352 of the Constitution of India for the first
time or on subsequent occasion may be passed by either house of Parliament only by -

A. A majority of the total membership of that house,

B. A majority of not less than two thirds of the members of that house present and voting,

C. A majority of not less than two thirds of the members of that house,

D. and the resolution must be ratified by the legislature of not less than one half of the states.

Choose the correct answer from the options given below :

1. A only
2.B, Cand D only
3. Aand B only
4. C and D only
1) 1
(2 2
(3) 3
(4) 4

Dl Yobed il Jgall gR I1 dla & HTWRI TR Y1 DI IGUIVUN Sl YR & GG & =96 352 & Sfavia
©. DI 3HIET DAl gl, GG o [l TG gRI 3Y ad B

A. T G WA & agHd & FHYT I UIRd g1 115U |

B. 39 Y& & IJURYd 3R 7d o aIdl Yl H 4 HH Y HH & q1-[deTs dgHd gRI ol UIkd g1 9115
C. 34 Y& & el & ol {dels U 3HiUd & dgad o1 gHd- gi-1 =iy |

D. 3 Hehed Dl 318 Y 3D ATl ! ATt gRI 8w fhar S =gy |

= fou e faded! & 9 WEl TR & 90 I

1. hdd A

2. $Hdd B, C 3R D
3. %dd A 3R B
4.%dd C 3R D

1)1
() 2
(3) 3
(4) 4

1[Option ID=40269] Question Description : law_law_set 1_english_q43
2[Option ID=40270]
3[Option ID=40271]
4[Option ID=40272]

Sl. No.44
QBID:158044

Which of the following statements are correct ?

A. Hiba (Gift) under Muslim Law, is the immediate and unqualified transfer of the corpus of the property
without any return.

B. Under Muslim law, a gift of immovable properties can be made verbally without recourse to a written
document.

C. A gift of life interest is valid.

D. A gift of life interest is enlarged into an absolute estate

E. The subject of gift may be corporeal only.

Choose the most appropriate answer from the options given below :

1. Aand E only

2.B, Cand D only
3. A.Band C only
4. C,D and E only

@ 1




) 2
3) 3
(4) 4

FufReT e I BT Id & 2

A. 1541 (&) A fafd & siaeid fapeil argeil & fa=T uky @1 Sug F1e 9 depTe iR A=t gdiarur
g
Bgﬁ%ﬂﬁfﬁaﬁ 3T, 3fad YUl &1 o faRdd gl & YA & 91 Aikd® ©9 9 fbar 5 gadi
|
C. ofia fgd &1 fgel (@) du § |
D. Sitq fgd &1 i3 fee (&) gui wwaiy | faxid fbar Sdr g |
E. s @) @1 faw a%g dhad Hol &1 ol © |

i< faU Y fdspedl 7 9 44 IUgdd SR b1 99 DI

1. $ddASRE

2. $HAd B, C 3R D
3. Had A, B3R C
4,%dd C,D AR E

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=40273] Question Description : law_law_set 1_english_q44
2[Option ID=40274]
3[Option ID=40275]
4[Option ID=40276]

Sl. No.45
QBID:158045

Arrange the following sections of the Patent Act, 1970 in chronological order (sectionwise-first come basic)

A. Controller and other officers
B. Term of patent

C. Convention countries

D. Multiple Priorities

E. Licensing of related patents

Choose the most appropriate answer from the options given below:

1.B.ALE,C.D
2.A,C,B,E,D
FCADER
4.E.B,D,C.A

)1

(2 2

(3) 3

(4) 4




Ude SfffTH, 1970 B FafaRad YR1s(l & HHMER (URTHHIR) UH 3fddh H AR $i-

A D 3R o YD
B. Ude &l 3afy

C. $d¥E ¥

D. dgd UdfAS I

E. Hdfod ude &1 SR

4 feu e famedl § 9 gl 3R &1 99 Sife:

Lt
ST 2

wp A
omEmO
g g

=
Do wm

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=40277] Question Description : law_law_set 1_english_q45
2[Option ID=40278]

3[Option ID=40279]
4[Option ID=40280]

Sl. No.46
QBID:158046

Which of the following cases are related to environmental protection ?

A. State of Orissa V/s Rabindranath Dalai and others

B. Subhash Kumar V/s State of Bihar and others

C. Almitra H Patel and others V/s Union of India and others
D. M. C. Mehta V/s Union of India

E. Kashi Ram and others V/s State of Rajasthan

Choose the correct answer from the options given below:

1. A, Band C only
2.B, Cand E only
3.C,D and E only
4.B, C and D only

11
(2) 2
(3) 3
(4) 4

fafeiRad 7 9 &9 I arg ggiaeur W& ¥ Yefid g 2

A. ISI1 IS §-H TS5-1Y gds 3R 3

B. YHIY HHR & [I8R I 3R 3

C. AT T Ued 3R 3= g4 YR 99 3R 3
D. TH.H1. Hgdl &1 YRd 99

E. HIYRM 3R 30§94 IS0 Il

Hid fu TTU [deed| § U Ug1 3R &1 994 il

1.Hadd A, B3R C
2. $Hdd B. C 3R E
3. Had C.D 3R E
4. %Ad B, C 3R D
(1) 1
() 2




3) 3
(4) 4

1[Option ID=40281] Question Description : law_law_set 1_english_q46
2[Option ID=40282]
3[Option ID=40283]
4[Option ID=40284]

Sl. No.47
QBID:158047

A person shall not be a member of State Board constituted under the Air (Prevention and Control of Pollution)
Act, 1981.

A. such person is or at any time has been adjudged insolvent

B. has been declared by a competent court to be of unsound mind

C. has been convicted of an offence under the Air (Prevention and Control of Pollution) Act, 1981
D. has become above 65 years of age

E. guilty of an offence involving moral turpitude.

Choose the correct answer from the options given below:

A, B, Cand D only
B, C.D and E only
A, B, Cand E only
C,D, E and A only

1.
7
3.
4.
(1) 1
(2) 2

3) 3
(4) 4

A (WN Ul faRUT 3R gz Sfafgd, 1981 & si=atid fad fbT S aTd I8 &S &1 gag (Agifed J
P Te1 8l Fbdl|

A. 9g ofad ol fobdl off we =grfAoifq-feanferar ¢ an g g
B. {4t Qe rarerd gR1 519 fadhd foxd o1 =ifsid fobar mar g1
C. 1 (NI (aRU1 Ud {700 Sifefas 1981 & of-id fobdl SRy H GIuRT foar gl

D. dg 65 q4 &1 371G guiax gDl gl
E. 98 Afd® 21Hd T SN BT 8l

- fow e fasred! & § U8l SR &1 994 ST

1.$dd A, B,C,D
2.$ddB,C,D,E
3. $Hdd A.B.C.E
4.%dd C,D,E.A

(1)1
() 2
(3) 3
(4) 4

1[Option ID=40285] Question Description : law_law_set 1_english_q47
2[Option ID=40286]
3[Option ID=40287]
4[Option ID=40288]

Sl. No.48
QBID:158048




Who among the following persons have been members of National Green Tribunal ?

A. Justice A Suryanarayan Naidu
B. Justice Dipak Misra

C. Justice C Venkata Ramana

D. Justice Rang Nath Mishra

E. Justice Pratap Kumar Ray

Choose the correct answer from the options given below:

1. A, Cand D only

2. A, Cand E only
3.B,C.,Dand E only
4. B, D and A only
1) 1

(2 2

(3) 3

(4) 4

faferRad # 9 I Pt gid fIHIv S T @ g 2

A. A T QEARA g
B. =IR3H[d 1Y g1

C. [ i debe AT

D. raHfd Ty g

E. <raHfd g $HR Y

= fou e faded! & 9 WEl TR & 90 I

1.$hdd A, C,D
2. ®add A, C, E
3.$ddB.C,D.E
4. $dd B, D, A

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=40289] Question Description : law_law_set 1_english_q48
2[Option ID=40290]

3[Option ID=40291]
4[Option ID=40292]

Sl. No.49
QBID:158049

According to Prof. HL. A. Hart:

A. Law is union of primary and secondary rules.
B. The idea of obligation is at the core of a rule.
C. Law is the enterprise of subjecting human conduct to the governance of rules.

D. The primary rules acquire the unity of a system through their union with secondary rules.

Choose the correct answer from the options given below:

1. A.Band C only
2.D, C and A only
3. A, Band D only
4.B, C and D only

1) 1

(2) 2

3) 3

(4) 4




hER UF.TA.U. §IC b 3FAR:
A fafer yrufire ud fgdiae i o1 dm g |
B. Sl 1 d9R Tl 99 & 7a A Migd gidi g |

c. fafer Ardg ameru &1 {31 IR el & S a- ST § |
D. WA g fedias Mawi & 9iRTed & Ared O fa Jonel & Uhdl Ud $d 6 |

< feu ¢ f[aedl § 9§ Ul 3R &1 994 PiivIe:

1. $dATA. B AR C
2. %HqdD, C 3R A
3. Had A, B3R D
4. $dd B, C 3R D

1)1
) 2
(3) 3
(4) 4

1[Option ID=40293] Question Description : law_law_set 1_english_q49
2[Option ID=40294]
3[Option ID=40295]
4[Option ID=40296]

Sl. No.50
QBID:158050

Which of the following are correct in case of a contract of bailment?

A. The person who delivers the goods is called the bailee.

B. If the bailee does any act which is inconsistent with the conditions of bailment, the contract is void.
C. a gratuitous bailment is terminated by death either of the bailor or of the bailee.

D. The bailee is bound to take care of the goods bailed.

E. Bailee has no general lien.

Choose the correct answer from the options given below:

1. A, Band C only
2. D and E only
3.B and C only

4. C and D only
1) 1
(2) 2
3) 3
(4) 4
Ui Hfdar & Are # Fgifhd 7 9 11 9 $U el &

A. HId &1 UREM S dTd e 1 Iufifgd (@efl) ST g |
B. If¢ IufAfgdl @15 T Hd Hd1 & Sl IUHLH D 3T ¢ dl Yfdel YA gl Sl 3 |
C. 3UIR® (1941 Uidwhd 1) Iul-eT IuHTgd a1 UM S 7 514 & URUTHEREY YUdiyd gl Sl

|
D. IUfHfecl (deih) 1 ded & fob ag Ul fehg 7g Arel &1 91 3 |
E. Juifed (seil) 1 B1g YA g (YRUMISR) TEi a1 g |

= feu 7 faded! § U Uol 3T &1 904 Difoig:

1. Fad A, B3R C
2. HAAD 3R E
3. Had B 3R C
4.%dd C 3R D

) 1




(2) 2

3) 3

(4) 4

1[Option ID=40297] Question Description : law_law_set 1_english_q50
2[Option ID=40298]

3[Option ID=40299]
4[Option ID=40300]

Sl. No.51
QBID:158051

Every prospectus issued by or on behalf of a public company shall state the following information:

. Name and addresses of the registered office of the company
. Details about underwriting of the Issue

. Details of directors

. Details about Trustees and their interest

. Collateral objects of the business.

HO N W

@

=

oose the correct answer from the options given below:

1.A, B, CandD only
2.C.D and E only
3. A,Band C only
4. A,BandD only
1
(2 2
3) 3
(4) 4

fepfl TR DU GRT AT I¥B! R Y SR Bl 15 YA (e Rreb1 H (wifebd ga- Sfestiad gii «

A. DUl BT AT d A4 3R udl

B. (718 (39 1 Wlie &1 ad1 - el &R
C. el &1 fdaru

D. IR 3R 39 fgd Haeh fgarm

E. 1G9 & Sifde dea

i fu U fdh el § 9 gl IR &1 994 Hifeie:

1.$ad A, B, C 3R D
2.%dd C,D AR E
3. FAdA, B3R C
4. HIAA. BIARD

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=40301] Question Description : law_law_set 1_english_q51
2[Option ID=40302]
3[Option ID=40303]
4[Option ID=40304]

Sl. No.52
QBID:158052




Which of the following are correct?

A. A company may issue debentures with option to convert them to shares, either wholly or partly at the time of
redemption.

B. Such issue has to be approved by a special resolution passed at a general meeting

C. Debentures with voting rights can be issued

D. Secured debentures cannot be issued

E. The debenture trustee has to take steps to protect the interest of debenture holders.

Choose the most appropriate answer from the options given below:

1. B, C and E only
2. A.Band E only
3. A, CandD only
4.C,Dand E only

1) 1

() 2

3) 3

(4) 4

Fgifed # 4 ®F 9 $UF T8l o

A. HU-! HORadq & fddhed Tigd FUMH SR &L Jabdll g |

B. 3H R & 3 DI HTHI H fd=Y Yebeq SIRI PR SfHIfGd AT BT 6 |
C. AR Aled FUTA SIRI fhT o @d 6 |

D. Widyd U SR g! [T ol Gl © |

E. BUYH YReb| o [gcll o HREUT g VU UIRR} bl HeH ISH USdl B |

i< fau Y fdpedl # 9 98 I9gdd SR b1 99 DI

1.$ad B, C 3R E
2. $Ad A, B3R E
3. FHad A, C AR D
4. Hdd C,D 3R E

1)1
(2) 2
3) 3
(4) 4

1[Option ID=40305] Question Description : law_law_set 1_english_q52
2[Option ID=40306]
3[Option ID=40307]
4[Option ID=40308]

Sl. No.53
QBID:158053

Which of the following are correct?
Fraud means and includes -

A. The suggestion as a fact, of that which is not true, by one who does not believe it to be true
B. The passive concealment of a fact

C. A promise made without any intention of performing it

D. Any other act fitted to deceive

E. Any such thing which the law declares as misrepresentation

Choose the most appropriate answer from the options given below:

1. A, B, Cand D only
2. A,BandE only
3.C,D and E only
4. A, Cand D only




(1) 1
(2) 2
(3) 3
(4) 4

BEINE S R AR AR R
(®Yc Y YT g duT giFferd #di @ -)

A. ST 910 I el 8. 3BT a2 & ¥U H I Ffdd gRT G ST i fA4 el el 6 a8 9ai 8
B. ST ® 4 9 T2 &1 fe5urT
C. Tls g Sl IUSH] ITa- TR & 3R & o1 feur T gt

D. a9 ®H g &5 3 S
E. Do Ul = 58 fafY gR1 gdud e & wu H Hiftd foban o g

i faU 7Y fdedl # 9 I8 I9gdd SR b1 99 DI

1.$ad A, B. C 3R D
2. $Ad A. B3R E
3.$Had C,D AR E
4. %Had A, C 3R D

1)1
(2) 2
3) 3
(4) 4

1[Option ID=40309] Question Description : law_law_set 1_english_q53
2[Option ID=40310]
3[Option ID=40311]
4[Option ID=40312]

Sl. No.54
QBID:158054

Which among the following are the opinions of Prof. Dicey about rule of law?

A. There should be absence of discretionary power because it makes room for arbitrariness
B. A person should suffer only for breach of law,

C. Rights must flow from customs and traditions recognized by courts

D. There was Administrative Law in England

E. Dicey considered that special administrative courts in France reflected rule of law.

Choose the most appropriate answer from the options given below:

1.A,B,C,Donly
2.B,C,D,E only
3.B, C,E only
4.A,B. Conly
1

(2 2

3) 3

(4) 4




T I & deH A Ul st d Ad Pefafed dd saa g

A. fag@1efi wfaaar 76t &) ot =rfet wifer so9 W= aial &1 9o fiddr g

B. fordl aafdky &1 dadt fafY & Ieeio g < A1 Se

C. BRI DI AT GRT ARG UTed W4Tl 3R qRURIS I R 91T

D. $7AUS H YRS B ol

E. SIO8! &1 A#d U1 fb 1ig & faxiv y=mai—e <amray fafe arg & ufdfdfad s3d o |

.

i fau 7Y faedl # 9 44 I9gdd SR b1 99 DI

1.$ddA.B.C.D
2. $9dB.C,D.E
3. %dd B, C,E
4.$bdd A, B, C

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=40313] Question Description : law_law_set 1_english_q54
2[Option ID=40314]
3[Option ID=40315]
4[Option ID=40316]

Sl. No.55
QBID:158055

Which of the following is correct about the protected system under the Information Technology Act, 2000?

A. National Nodal Agency may declare any computer resource as the protected system

B. Central Government prescribes the information security practices and procedures for protected system

C. Protected system relates to the protection of the facilities of critical information infrastructure

D. Indian Computer Emergency Response Team has the overall responsibility for taking all measures for
protection of protected system.

Choose the most appropriate answer from the options given below:

1. A, B, Conly

(4) 4

G Uit HfIfHam, 2000 & faid WG Yol S R B FU AT R UL g 2

A TP IS SHBHRUT il SRR GHIE Bl IRMETT TUMTel & F0 H U1 PR Dl g |

B. &5 WXPR TRI&T Ul o (7T a1 YRam wusil 3k ufcbarsii ! fafgd (@ftld) #di § |

C. SRfET worrell sifdl Hg@gul Ya1 SawiRa1 ! giaersil & & d Hefid g |

D.lﬂ??ﬂud?ggz‘{ 3HTaTd Ufdfehar g & T TRFET Uomelt & TRE0T & fo10 §HEd IU B3 & Ay
el € |

19 feu TTe fadhedl # 9 Ued Iugdd IR BT 99 HIfoIT:

1.$hdd A, B, C
2. Hdd B, C
3.%dd C, D
4. Hdd A, D, C

11




(2) 2

3) 3

(4) 4

1[Option ID=40317] Question Description : law_law_set 1_english_q55
2[Option ID=40318]

3[Option ID=40319]
4[Option ID=40320]

Sl. No.56
QBID:158056

Who among the following are 'public servants' as expressly given under Section 21 of the Indian Penal Code,
18607

A. Every commissioned officer of defence service
B. Every judge

C. Every officer of the Government

D. Chairman Trustee of private Trust

E. President of Political Parties

Choose the most appropriate answer from the options given below:

1. A. B and E only
2.B, Cand D only
3.C,D and E only
4. A, Band C only

1) 1

(2) 2

3) 3

(4) 4

YRAT &8 Tfgdl 1860 Bl YRT 21 & 3fdid AfHadey H Ued MyfiRad ®iF did Uad g2

A. &1 AT T YD HHILS AUDR]
B. <rTeer

C. WBR & Udd HUBR]

D. WI3de <019 o A&t

E. YSHIfd® ad 1 3emgf

1= feg U famedl # 9 9 I9gad I BT 999 DT
1. $dd A, B, E

1[Option ID=40321] Question Description : law_law_set 1_english_q56
2[Option ID=40322]
3[Option ID=40323]
4[Option ID=40324]

Sl. No.57
QBID:158057




Following are the essential elements of theft under the Indian Penal Code, 1860

A. Dishonest intention

B. The property should be taken out of the possession of any person without that person's consent
C. The person having possession must be the owner of the such property

D. Property must be movable

E. Taking away of the property should be permanent

Choose the correct answer from the options given below:

1. A, Band D only
2.B, Cand D only
3.C,Dand E only
4. A, Cand D only

1) 1

(2 2

(3) 3

(4) 4

HRA &8 TfgdT 1860 & A<l R & SURTY & AU g I T 5

A. 92HFU SR

B. foralt 311 aafad & Feol U Tufd ol SFT A1feT, 39 aafad &t Tfd & fo
C. Doy Afdd 39 dRg &I YUy &1 W@l giHT @1fgy

D. Tuf 9@ "ufd & &9 § g =@1fgu

E. G 1 foran S =il g4 9me g

=i feu 7 fa@ed! § U Uol 3T &1 904 Difoie:

1.$hdd A, B, D
2. %dd B,C,D
3.$dd C.D.E
4. hdd A, C.D

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=40325] Question Description : law_law_set 1_english_q57
2[Option ID=40326]
3[Option ID=40327]
4[Option ID=40328]

Sl. No.58
QBID:158058

Following are generally the essential elements of crime :

A. Mens rea

B. Actus reus

C. Motive

D. Injury

E. Human being

Choose the most appropriate answer from the options given below:

1. B, C,D and E Only
2.C,D,E and A only
3.A.B,DandE only
4.E,B. C and D only
1
2) 2

3) 3




(4) 4

SRIY & FHEITIT HGWYD Haad g

A. STORTIE T FRUfa
B. ATRIUD A

C. T (Vo)

D. &fd

E. AFg-yroft

i< U U 9 edl § 9 U8l IR &l 994 Pifoie:

1.$dd B, C,D,E
2. $ddC,D,E. A
3. $%dd A, B.D.E
4. $dd E. B, C.D

1)1
(2) 2
(3) 3
(4) 4

1[Option ID=40329] Question Description : law_law_set 1_english_q58
2[Option ID=40330]
3[Option ID=40331]
4[Option ID=40332]

Sl. No.59
QBID:158059

Which of the following provisions have been inserted in the Indian Penal Code through the Criminal Law
(Amendment) Act 20132

A. Section 326 A
B. Section 326 B
C. Section 166 A
D. Section 166 B
E. Section 228 A

Choose the most appropriate answer from the options given below:

1.B, C,D and E only
2.D, C and E only
3.C,Band E only
4. A, B, Cand D only
1
(2) 2
3) 3
(4) 4




A (e i 2013 & AeH W R <8 dfgdl H FMafaRad Iude - 1ud 6 T &:

A YR 326
B. 41326 9
C. YRT 166
D. YRT 166 H
E. 4R1228

4 feu e famedl § 9 gl 3R &1 99 Sife:

1.$dd B,C.D.E
2. $ddD,C,E
3.%dd C,B.E
4.$bdd A, B.C,D

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=40333] Question Description : law_law_set 1_english_q59
2[Option ID=40334]

3[Option ID=40335]
4[Option ID=40336]

Sl. No.60
QBID:158060

Which of the following statements are correct ?

A. Negligence is the breach of a legal duty towards the other caused by omission

B. Actionable negligence consists in the neglect of the use of ordinary care towards a person to whom, he owes
the duty

C. Negligence is breach of legal duty to take care which results in damage

D. There is no difference between civil and criminal negligence

E. The offence of death by negligence under IPC was amended in 2013

Choose the correct answer from the options given below:

1. A, BandE only
2.B and D only
3. A, Band C only
4. C and D only
1
(2 2
3) 3
(4) 4

FafaREd # ¥ S I HUT el § 2

A. Ul Tl o= & Ul fafeie Do 1 Iexiu- g ol dlU & HRUI G 8l

B. 3{disd JUe, fhdl VY aafdd, o [T a1 ddod g1, & Uid 9 SE-3d & WA $i JUai gl
C. JUET YAyl sRa & faf¥d oy BT Ieca ¢ fordd URUTRGEY &ffd gidl ¢ |

D. Gl 3R TURIAS JUE o &l d Dy 3R 6l ¢

E. 4R &3 dfgdl # urauid SUa gR1Hg &1 2013 H G20idd fbar m g

i< faU 7Y fdsp el # 9 a8 Iugdd TR &1 99 DI
1. 5dd A, B 3R E
2. $dd B IR D
3.9ad A, B AR C

4.%ad C 3R D




1) 1
(2) 2

3) 3

(4) 4

1[Option ID=40337] Question Description : law_law_set 1_english_q60
2[Option ID=40338]

3[Option ID=40339]
4[Option ID=40340]

Sl. No.61
QBID:158061

Article 38 of the Statute of International Court of Justice enumerates which of the following as sources of
International Law:

A. All international conventions

B. International custom, as evidence of a general practice accepted as law.
C. The general principles of law recognized by the United Nations

D. The general principles of law recognized by civilized nations.

Choose the correct answer from the options given below:

1. A, B, Conly
2.B,D only
3.B. Conly
4. A, B only
1
) 2
3) 3
(4) 4

SRIPTT e &1 Widfer & srgwde 38 # Fafaiad A U fbd/ b RIS S o1 |id odram T &:

A. G SiRIvT efftrgry

B. SRIPI 2fddl. ot B & ¥U H Wihd QA U1 BT H1ed U gl |
C. Hgad AP gRT ARG ST & A fgid

D. ¥ T §RT ARG BT & A i

< fau e fasd el # 9 "el 3R &1 =8 Pl

1.$dd A, B, C
2. $dd B.D
3. Hdd B, C
4.%dd A, B

(1) 1
) 2
(3) 3
(4) 4

1[Option ID=40341] Question Description : law_law_set 1_english_q61
2[Option ID=40342]
3[Option ID=40343]
4[Option ID=40344]

Sl. No.62
QBID:158062




Which of the statement's is/are correct ?

A. A quasi-judicial body may never review its own decisions if there is grave error of law in it.
B. A quasi judicial body may review its own decisions if there is grave error of law in it.

C. A quasi judicial body has inherent power to review its own decisions

D. A quasi judicial body has power to issue writs.

Choose the correct answer from the options given below:

1. Aand C only
2. B only
3. Aonly
4.B and D only
1) 1
(2) 2
(3) 3
(4) 4

RT3 9 SO/ HUF TRl § 2

A. I3 3Hg-AIAD NP 3G W8 & (0[g DI S FHlan 161 B Gobn, afe 394 fafd B TR Ffe gl
B. I3 -1 bR U= T & Foia o1 gelg o goban, afe 39H fald o1 ik Ffe g

c. forddt erg-—iires fAma & Uiy 31g+ W9 & fAofal &t aten & & fafHfga afda §

D. fodt srg-—unfie Mo & U Re SRl dA &l 9fgd ¢ |

= fou e fasred! & 9 98t SR &1 994 Sifo:

1. Fad A AR C
2. $dd B
3. hdd A
4. HAB AR D

(1)1
) 2
(3) 3
(4) 4

1[Option ID=40345] Question Description : law_law_set 1_english_q62
2[Option ID=40346]
3[Option ID=40347]
4[Option ID=40348]

Sl. No.63
QBID:158063

Which of the following statement's is/are correct ?

A. Dower is a consideration for the surrender of person by the wife.

B. Dower is the technical Anglo-Mohammedan term for its equivalent 'Mahr' in Arabic.

C. Dower must be fixed at the marriage ceremony otherwise marriage will be void.

D. Where no dower is expressly fixed at the marriage ceremony, the law confers the right of dower upon wife.

Choose the most appropriate answer from the options given below:

.Aand C only
.A.Band D only
. A, Band C only
.B and C only
1

(2 2

3) 3

(4) 4

e o b o=




FfaRad d I &F 91" U Tal &

A. FER (SIaR) dl gRT 30+ 319 bl U b SH 8q U Uldhd ¢ |

B. SIaR AhIh! 3{Tl-HRTH st 5. 3Rl H ST GHHE] Teg X' G |

C. AR (SIaR) Bl fdare TARTE H a4 {1 ST =1feq ST fadTe g g1 =i |

D. S8l [dd1g UHARIE # Pl AL (S1d%) TV $9 U d4 el [l SITdT, dgl [af¥ gRI 7eX (Sax) &l 3YHR
Udl b1 UaT far Siid g

i fau Y fdedl # 9 a4 Iugdd TR &1 99 DI

1. Fad AR C
2. Had A, B 3R D
3. HAdA, B3R C
4. HdAB 3R C

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=40349] Question Description : law_law_set 1_english_q63
2[Option ID=40350]
3[Option ID=40351]
4[Option ID=40352]

Sl. No.64
QBID:158064

Which of the following statement's is/are correct :

A. According to the Hindu Marriage Act, performance of Sapatapadi before the sacred fire is obligatory for
marriage

B. Chanting of mantra is not necessary while performing Saptapadi

C. Saptapadi was customary ritual, incorporated under the Hindu Marriage Act

D. In Hindu Marriage Kanyadana cannot be regarded essential.

Choose the correct answer from the options given below:

1. A and B only
2. B and D only
3. A, Band C only
4.B, C and D only
1
(2 2
3) 3
(4) 4

FHfaRId & I &F 91" HUF Tol &

A. Te=< fadrg sifefre & o aR, ufds sifil & gHe Gequdl o1 fda1g & forg ofari g |
B. GUS! Hd Y HATARY] fob ] ST 3HIa D el ¢ |

C. YS! T TfeTd S o1, o1 fgg faarg sief-as & afaria e foar 1 |

D. g4 fdd1g ® S-=a1e™ &I Sar 15! 71 o ¥ebdl g |

= fow e fasedt & 9 98t SR &1 994 Sifo:

1. $dd A 3R B
2. HAd B 3R D
3. HAd A B3R C
4. F9d B, C 3R D

) 1
) 2




3) 3
(4) 4

1[Option ID=40353] Question Description : law_law_set 1_english_q64
2[Option ID=40354]
3[Option ID=40355]
4[Option ID=40356]

Sl. No.65
QBID:158065

In which of the following cases, the Supreme Court has held that while applying and interpreting the anti
defection law, the Speaker of Lok-Sabha functions as a tribunal :

A. S.P. Sampath Kumar V/s Union of India (1987)
B. I.R. Coelho V/s State of Tamilnadu (2007),

C. Kihota Hollohon V/s Zachilhu (1992),

D. L. Chandra Kumar V/s Union of India (1997),

E. M.S.M. Sharma V/s Shri Krishna Sharma (1959)

Choose the most appropriate answer from the options given below:

1.B, C and E only
2. A.Band C only
3. Conly
4.D only

1) 1

(2) 2

3) 3

(4) 4

fFfaRad d 9 S19-8 Amd J I=qd e 9 iy faar fe go-gad faRiel S o dary aid iR
ISP AT Pl AT, AP GHIHE TP AETYHRO & o0 H ST Hdl o

A. TH Ul §Ud $HAR & HRJ T (1987)
B. 313,31, Sleg] &0 IS T4 (2007)
C. fhgIdr gidigr §-H Sy (1992)

D. Ud. I AR G HRJ 94 (1997)

E. TH.0Y.H. 41 S48 41 H07 241 (1959)

1= feg U famcdl # 9 9l I9gad IR BT 999 DT

1. $%dd B, C 3R E
2. HAd A, B3R C
3. Hdd C
4. HddD

1) 1

() 2

(3) 3

4) 4

1[Option ID=40357] Question Description : law_law_set 1_english_q65
2[Option ID=40358]
3[Option ID=40359]
4[Option ID=40360]

Sl. No.66
QBID:158066




Match List I with List IT

LISTI LISTII
A Specific goods in a deliverablel 1 Section 64, Sale of Goods
" |state T Act. 1930
y Section 28, Sale of Goods
B. |[Auction sale II. [Act. 1930
C Remedy for breach of 1 Section 20, Sale of Goods
| [warranty " JAct, 1930
; - : . |Section 39, Sale of Goods
D. |Sale by one joint owners A% [Act. 1930

Choose the correct answer from the options given below:

1. A-1I, B-III, C-1, D-IV
2. A-1V, B-11, C-1IL, D-I
3. AL, B-III, C-1I, D-IV
4. A-III. B-L. C-1IV. D-II

1) 1
) 2
(3) 3
4) 4
! 11 Yl 1 8 e Sifsy
AT 1 Tt I
A faaeolig s & R [ [y e,
GRS " 1930 BT IR 64
ey Ora-fasd SHfege,
B fat I |o50 o e 28
o ARl Joeed & Sug o e s,
B GLERS! " [1930 T YN 20
p [FIMEEIHET® | [AC-EEg s,
" e fasht " 11930 @ YT 59

fofeiRad faeedl & T Tel 3R &1 904 B :

.A-IL B-III, C-1, D-IV

ATV, B-IIL C-II1, D-1

.A-L, B-1II, C-II, D-IV
4. A-IIL, B-1, C-IV, D-II

(1)1

(2) 2

(3) 3

(4) 4

1
2
3

1[Option ID=40361] Question Description : law_law_set 1_english_q66
2[Option ID=40362]
3[Option ID=40363]
4[Option ID=40364]

Sl. No.67
QBID:158067

Match List I with List IT

LISTI LISTII
A |Limited Powers of the Parliament I. UK
B. [Residuary Power to the states II. [India
C Unl@ired powers of the m. s
Parliament
D |Constitutional Council IV. [France

Choose the correct answer from the options given below:

CA-IIL B-1IV, C-1, D-1I
. A-1, B-I, C-1I1, D-IV
. A-I, B-II, C-II, D-IV
. A-IIL, B-III, C-1, D-1IV

da Lo B




(1) 1
(2) 2
(3) 3
(4) 4

T 16T g 1 9 fAdr $iforg

T 1 et 11
mm L g
Thodl bl SAfF Widd| I [MRd
m&mﬁ I [gug.
T oG V. [pid

frgfafad faemeal & O 98! ST &1 904 SIU -

1. A-III, B-1V, C-I, D-II
2. A-I, B-1I, C-111, D-IV
3. A-I, B-III, C-I1, D-IV
4. A-TI, B-1I1, C-1. D-IV

11

(2) 2

(3) 3

(4) 4

Ol o (w =

1[Option ID=40365] Question Description : law_law_set 1_english_q67
2[Option ID=40366]
3[Option ID=40367]
4[Option ID=40368]

Sl. No.68
QBID:158068

Match List I with List IT

LISTI LISTII
g (Year of Ratification /
(Human Right Instruments) Accoion)
International Convention on the
A [Elimination of All form of Racial I 1954
Discritnination (ICERD)
International Covenant on Civil and
B. Ipotitical Rights (ICCPR) il i
C. |Forced Labour Convention, III. 1979
Convention on the Rights of Child : 5
B (CRO). IV. 1992

Choose the correct answer from the options given below:

1. A-1. B-II, C-III, D-IV
2. A-IIT, B-II, C-1, D-IV
3. A-IL B-III, C-1, D-IV
4, A-IV, B-1, C-1II, D-II

1) 1

() 2

(3) 3

(4) 4




G 11 gl 119 e Sifon

=1 T 1T
@R frEe (SFHHYT BT T
2 eI d Ba9H A G

3 T

A B efw IREa L 1954
EREDIEREIE
CUERIEEIRE])
2 eI dane 3
B. [Udausufafesa I 1968
RI3<H (SMEYUNIGSR)
B3 das $aH . 1979
b [P MG AT T -

fafeiRad faeedl & O Tel 3R &1 98 B :

1. A-I B-11, C-III, D-IV
2. A-II1, B-1I, C-1, D-IV
3. A-Il, B-1II, C-1, D-IV
4. A-IV, B-1, C-III, D-II

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=40369] Question Description : law_law_set 1_english_q68
2[Option ID=40370]
3[Option ID=40371]
4[Option ID=40372]

Sl. No.69
QBID:158069

Match List I with List IT

LISTI LISTII
A [|PanIXB I.  |Tribunals
B |Part XIVA II. |Co-operative Societies
C. |Part VIII III.  |Official Languages
D |Part XVII IV,  |Union Territories

Choose the correct answer from the options given below:

1. A-I. B-II, C-III, D-IV
2. A-IV, B-TII, C-I1. D-1
3. A-IL, B-1, C-IV, D-1I1
4. A-III, B-II, C-1, D-IV

(1) 1

() 2

(3) 3

(4) 4




G 11 gl 119 e Sifon

T 1 T 1T
A [HFIXB L i
B. [HFIXIVA I [ggeri gl
C. |HFIVII 11 RTSTHIT
D. [MFIXVI V. [garaad

frafafad fasweal & 9 gl IR &1 994 SIS -

1. A-1, B-1I, C-II1, D-IV
2. A-IV, B-II1, C-I1, D-1
3. A-IL B-1. C-1V, D-III
4. A-111, B-1I, C-1, D-IV
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=40373] Question Description : law_law_set 1_english_q69
2[Option ID=40374]

3[Option ID=40375]
4[Option ID=40376]

Sl. No.70
QBID:158070

Match List I with List IT

LISTI LISTII
Rose and Frank Co. Vs
A |Crompton and Brothers 1. |Standard form of contract
Ltd.
B |Hams Vie Nickerson I Intention to create legal

relations
|Acceptance must be

Ollev V/s Marlborough

c. Court Lid. III. |communicated by the
acceptor
D. |Powell Vis Lee. IV. [Invitation to offer

Choose the correct answer from the options given below:

1. A-IIT1. B-1. C-IV, D-II
2. A-II, B-1V, C-1, D-III
3. A-IV, B-1, C-11. D-1II
4, A-1, B-IV, C-III, D-II

1) 1

(2) 2

3) 3

(4) 4




G 11 gl 119 e Sifon

T 1 T 1T
RIST UUS 1ok thu-i1 &4
A [spTOTH UUS S I [Gider o1 3E® ¥0
ISIEEE]
faftie el &1 gierd
B. [y M e g e e
o wipld & e H
¢ ah?ﬂﬁﬁ%a:im | IRl gRT 3G Bl
Ty fId fhar S A e
D. [didd & o IV. [URdTd gq AU

fafeiRad Aol & O Uel 3R &1 9g B -

1. A-III, B-1, C-IV, D-1I
2. A-IL, B-1V, C-1, D-III
3. A-IV, B-1, C-I1, D-III
4. A-1, B-1V, C-III, D-II
(1) 1
2) 2
3) 3
4) 4
1[Option ID=40377] Question Description : law_law_set 1_english_q70
2[Option ID=40378]

3[Option ID=40379]
4[Option ID=40380]

Sl. No.71
QBID:158071

Match List I with List IT

LISTI LISTII
- = -
A |Registration of Marriage [ Sefnoﬂ 112, Doy
Evidence Act
B. |Dowry death II. |Section 304B. IPC
c Presumption of T Section 113, Indian
Legitimacy of child " |Evidence Act
Marriage religious . |Section 8, Hindu
D. SE V. :
ceremonies Marriage Act

Choose the correct answer from the options given below:

1. A-I. B-II. C-III, D-IV
2. A-IV, B-III. C-II. D-1
3. A-III, B-IV, C-1, D-TI
4, A-IV, B-111, C-I, D-II

(1)1

) 2

3) 3

(4) 4




G 11 gl 119 e Sifon

T 1 T 1T
A (e @ o [ [, URAID el
God I L [¥R1-304%, HI.C G,
& e & YHed B m |3 49, Y=dg
©[3UYRu " [wem sty
= . |emas, fgwg faarg
D (oo e afdd &d | IV bl

frafafad faeeal & 9 98! SR &1 90 SIS -

1. A-I, B-II, C-II1, D-IV
2. A-IV. B-III. C-II. D-1
3. A-III, B-1V, C-I, D-II
4. A-IV, B-111. C-1. D-II

11

(2) 2

(3) 3

(4) 4

1[Option ID=40381] Question Description : law_law_set 1_english_q71
2[Option ID=40382]
3[Option ID=40383]
4[Option ID=40384]

Sl. No.72
QBID:158072

Match List I with List IT

LISTI LISTII
A |Customs 1. |Corporation Sole
B. |Post Master General II. |Jural Relations
C.  |Arnstotle III. |Historical School
D. |Hohfeld IV.  |Distributive Justice

Choose the correct answer from the options given below:

1. A-III, B-IV, C-11, D-I
2. A-IIL, B-I, C-IV, D-1I
3. A-IV, B-III, C-11, D-I
4. A-1, B-IL C-III, D-IV

1
(2 2
(3) 3
4) 4
Gl 11 YT 11 ¥ e SISy
T I el 11
A [gumd 1 [Eod T
B. |[HEI-Shurd 1. [[aferTd (oRe) dee
C. Jrs 1. [Udgiie ¥d
D. b V. [[ddeuaTd =4

fafeiRad Aol & O Tel 3R &1 9g B :

1. A-IIT, B-IV, C-II, D-I
2. A-III, B-1. C-IV, D-II
3. A-IV, B-III, C-II. D-I
4. A-I, B-11. C-II1, D-IV

(1)1

) 2

(3) 3

(4) 4




1[Option ID=40385] Question Description : law_law_set 1_english_q72
2[Option ID=40386]
3[Option ID=40387]
4[Option ID=40388]

Sl. No.73
QBID:158073

Match List I with List IT

LISTI LIST IT
X Vs Principal Secretary,
A Health and Family Welfare I Collaborative Federal
°7 |Development, NCT Delhi © |Structure
(2022)
Union of India V/s M/s Mohit LT Wpmed, Wi
B. [Minerals through Director f, [Eredand namaed.
2022) are enmled_ to safe and
legal abortion
C Sahara India Real Estate Ltd. 1 [Postponement of
T |V/s SEBI (2012) " [publication
D INCT of Delhi V/'s Union of v (Uncooperative
" [India (2018) " |federalizsm

Choose the correct answer from the options given below:

1. A-1, B-II, C-TII, D-IV
2. A-1V, B-1II, C-II, D-I
3. A-IIL B-I, C-II, D-IV
4. A-IL, B-IV, C-III, D-I

1) 1
() 2
(3) 3
) 4
T 1T YT 10 9 e SISy
T 1 T 1T
G T T o
A e, g awuE aa SR S g
TGl (2022)
YR 99 M Aifed %ﬁaﬂ%ﬁﬂmﬂéﬁmﬁaﬁﬂm
5 (ﬁg'ff Y SRR e qa'ﬁrs‘:%gmm}umﬁ
i ERGI
TERT Sredl igd T
& s a1 Tal (2012) T * [repTert el R
TP A= & foeett . .
D im wra @ o1s) IV, | SRl HHaTg

fafeiRad faeedl & O Tel 3R &1 98 B :

1. A-I. B-11, C-III, D-IV
2. A-IV, B-III, C-I1. D-1
3. A-1II. B-1. C-11, D-IV
4. A-II, B-1V, C-II1I, D-I

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=40389] Question Description : law_law_set 1_english_q73
2[Option ID=40390]
3[Option ID=40391]
4[Option ID=40392]

Sl. No.74
QBID:158074




Match List I with List IT

LISTI LISTIT
A [Brtish North America Act I 1787
B. |Australian Constitution Act II. 1867
C. [USA Constitution III.  |1689
D. [UK Bill of Rights V. [1900

Choose the correct answer from the options given below:

1. A-1V, B-11, C-1, D-III
2. A-IL, B-1V, C-1, D-1II
3. A1, B-II, C-TII, D-IV
4. A-1V, B-1I1, C-1I, D-I

1) 1
(2) 2
3) 3
4) 4
YT 1T YT 10 9 e SISy
T 1 T
fefe=r ST SR N
A Rm I [1787
B. msﬂﬁﬁm I 1367
quaT &l Tl I 1689
SfIeRU (o .
% : V. [1900

frofafad faemeal & 9 98! SR &1 904 SIS -

1. A-IV, B-11, C-1, D-III
2. A-I1, B-1V, C-1, D-III
3. A-1, B-1I, C-II1, D-IV
4. A-TV, B-II1, C-1I, D-I
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=40393] Question Description : law_law_set 1_english_q74
2[Option ID=40394]

3[Option ID=40395]
4[Option ID=40396]

Sl. No.75
QBID:158075

Match List I with List IT

LISTI LISTII
Promotion of
A |International Peace and I |Article 210
Security
Conduct of Business of i
B the Govt of India . |eegelio
c. Special Address by the I lArticle 77
Governor
Language to be used in . e
D ve: Eositiature IV, |Article 51

Choose the correct answer from the options given below:

1. A-1V, B-1II, C-II, D-I

2. A-1V, B-11, C-1I1, D-I

3. A-I, B-IV, C-II, D-III

4. A-IL, B-IV, C-1, D-1II
1)1




) 2

(3) 3
(4) 4
YT 11 YT 1 ¥ e SISy
T 1 T 1
SIRIE T 3R .
A e ) fate L |3FwG 210
URd TRHR & 14 Bl
n [ I [3F=8G 176
c. Ww'qq'” I |ae 77
= Eﬂﬁmammmﬁ N [srs

fofeiRad faemedl & T el 3R &1 904 B :

1. A-IV, B-1II, C-I1, D-I
2. A-TIV, B-1I1, C-IIT, D-1
3. A-L B-IV, C-II. D-III
4. A-IL, B-IV, C-1, D-11I
(1) 1
(2) 2
3) 3
4) 4
1[Option ID=40397] Question Description : law_law_set 1_english_q75
2[Option ID=40398]

3[Option ID=40399]
4[Option ID=40400]

Sl. No.76
QBID:158076

Arrange the following cases in chronological order (Old to new)

A. Suresh Kumar Kaushal V/s Naz Foundation

B. Navtej Singh Jauhar V/s Union of India

C. Naz Foundation V/s Government of NCT of Delhi
D. Ankit V/s State of Haryana

Choose the correct answer from the options given below:

ABCD

£

1.
2.
3

'J’CUU
tUU:P

B,
i
b b

S
m}ﬁ

(1)1
) 2
3) 3
(4) 4




?ﬂﬁrﬁaﬁ d1al &l HIHHFYR &7 Y HafRYd DI (U J Ad1) forgH I=Iad e 5 &8 faan

A. P PUR DI 1 A1 BRI S

B. Aol [¥g Siey &4 HIRd 99

C. AT BI3USTH A foeei! AP AT &5 Bl TWPR
D. sifebd 1A giamon I

4 feu e famedl § 9 gl 3R &1 99 Sife:

e b, B
g aEp
WO -

mp o w
>R P

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=40401] Question Description : law_law_set 1_english_q76
2[Option ID=40402]

3[Option ID=40403]
4[Option ID=40404]

Sl. No.77
QBID:158077

Arrange the following cases in chronological order (Old to New) where death sentence has been awarded by the
Supreme Court of India.

A. Ediga Anamma V/s State of Andhra Pradesh
B. Bachan Singh V/s State of Punjab

C. Machhi Singh V/s State of Punjab

D. Vinay Sharma V/s Union of India

E. Shabnam Khan V/s Union of India

Choose the correct answer from the options given below:

4) 4
Fafarad Al D1 DIABAMER HARYT BT (YT Y di-), TR I=IdH =rared = {ej &us fea
g

A. UTSTT 31§41 YU I
B. 9494 [3g 9411 UulId Iy

C. A1 Rig 941 UoTd Y

D. fa9a Il §919 YRd IY

E. Y@ @M g9 YRd 99

4 feu e fab el § 9 gl 3R &1 99 SifE:




(1) 1

(2) 2

3) 3

4) 4

1[Option ID=40405] Question Description : law_law_set 1_english_q77
2[Option ID=40406]

3[Option ID=40407]
4[Option ID=40408]

Sl. No.78
QBID:158078

Which among the followings most appropriately reflects the constitutional system for India and USA ?

A. Federal

B. Presidential

C. Democratic form of Government
D. Unitary

E. Rule of Law

Choose the correct answer from the options given below:

".)JFJ&—»

W
r‘:nrrirrirri

;B
0 b
D
B

_3_~.

L E
11
2) 2
(3) 3
(4) 4

FafREd H ¥ I HRdE 3R guaT & e H wailte 3ugad ifdei-ie Yulle! &l gRIdi g 2

A IRUHY (B3d)
B. 3&THD
C. dihdiH® WeY Bl GBR

D. UHIdD
E. fafe 9=

= fom e fashed! & 9 9El SR &1 994 S

W
e

£
woONw
Ottt
t

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=40409] Question Description : law_law_set 1_english_q78
2[Option ID=40410]

3[Option ID=40411]
4[Option ID=40412]

Sl. No.79
QBID:158079




Arrange the following chapters of the Indian Penal Code on the basis of ascending order :

A. General Exceptions

B. Offences against the Public Tranquillity
C. Offences against Property

D. Offences against Human body

E. Offences against State

Choose the correct answer from the options given below:

1.B.C.D.E. A
2.D.C.B.AE
3.AE,B,.D,C
4 A,B,C,D,E
(1) 1
) 2
3) 3
(4) 4

YR gUs dfgdl & MafeRad el &l Rig! hH & TR TR AU HIToTT |

A. YIYRUT 3{Ydlg (§419)

B. i UXifd & fdoa ORIy

C. Hult & faog 3Ry

D. AFd YRR G Y19 Sl dlet 3R1
E. I & %G gy

HId fau e fadh el § I el 3R Bl 98- BifoTE:
1.B.C.D.E.A
I DCBAE
3 AEBDC
4.A,B,C,D,E
(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=40413] Question Description : law_law_set 1_english_q79
2[Option ID=40414]
3[Option ID=40415]
4[Option ID=40416]

Sl. No.80
QBID:158080

Arrange the following statutory provioins on first come basis as per the Indian Contract Act, 1872

A. Agreement void for uncertainty

B. Discharge of surety by release or discharge of principal debtor
C. Release of one co-surety does not discharge others,

D. Co-sureties liable to contribute equally

E. Rights of surety on payment or performance

Choose the correct answer from the options given below:

1.A.C,D.B.E
2.A,B,C.E.D
3.3A,C.E.D,B
4. C,A.D.B.E

1) 1

) 2

3) 3

(4) 4




HRAIY ider g, 1872 & HTUR, GdUYH P YR W AN BT S & soH H aferiad fafies
UG P AR DIT:

A HHATHI P HR YT TR

B. WG U1 @] [T a1 3 9 Uiy @1
C. gg-ufay 1 il 3= o1 IHId 78! Bl

D. FHM &1 8 aTeH 3 8 od 9g-Uidy,

E. Y711 3fydl fAsare- W ufdy &1 sfger

=i fau e fasmedl § O gt 3R &I 994 Bifore:
i ACBBE
9.5 B CED
L ACEDB
4 CADBE
(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=40417] Question Description : law_law_set 1_english_q80
2[Option ID=40418]
3[Option ID=40419]
4[Option ID=40420]

SlI. No.81
QBID:158081

Arrange the following as per sections of the Companies Act, 2013 in descending order :

A. Execution of Bills of Exchange, etc.

B. Punishment in case of repeated default

C. Annual reports on Government Companies
D. Petition for winding up

E. Functions of Company Secretary

Choose the correct answer from the options given below:

i e
FOown
Feay
( Ries e Bes
NnOmp
tH W W

du

11
(2) 2
(3) 3
(4) 4

DU AT, 2013 B URT & HTUR FMHfARId DI 3faRigl HH H Taied B |

A. [aFTg oo gania &1 e
B. GIgU 7T &Y & A H 408
C. WHRI hui-al ) gt ufdded

D. YREHTY g TTferebT

E. Ul GfId & $d
il feu Y fashedl # 4 98! IR &1 9g I

1.C,D,E.A. B

2.B.C.D.E.A

3.C,AE,D,B

4.B,A,D,C,E

) 1




(2) 2

3) 3

(4) 4

1[Option ID=40421] Question Description : law_law_set 1_english_q81
2[Option ID=40422]

3[Option ID=40423]
4[Option ID=40424]

Sl. No.82
QBID:158082

Consider the following cases decided by the Supreme Court of India and arrange them in correct sequence of the
year of the judgements : (Old to New)

A. Navtej Singh Jauhar V/s Union of India
B. Rupa Ashok Hurra V/s Ashok Huira

C. Sayra Bano V/s Union of India

D. Selvi V/s State of Karnataka

E. Shankri Prasad V/s Union of India

Choose the correct answer from the options given below:

1.A,B,.C.D.E
2.E,D C,B A
3.)EEB.D.C.A
4.D,E,C,A. B
1) 1
) 2
3) 3
(4) 4

YR &l I=dd Farad gRI Foifd Mafefad aEdl & [d9R SIS 3R 34 ol & ay & Hrdasd
SR (W § Ad17) TEl 3IehH H HafRId Pifore:

A. FTddl Rg SligR §9H HRd 99
B. &1 3R g1 &9 4= g1
C. YR §H1 §911 HRd 99

D. Uedl g4 HHledh A

E. X< WHIE €919 YR 99

I fau T fadh el § U el 3R &l 994 HifoTe:
1.A,B,C,D,E
2.E B CB.A
3.5 B D C A
4.D,E,C,A,B
1) 1
(2) 2
3) 3
4) 4

1[Option ID=40425] Question Description : law_law_set 1_english_q82
2[Option ID=40426]
3[Option ID=40427]
4[Option ID=40428]

Sl. No.83
QBID:158083




Consider the following cases decided by the Supreme Court and arrange in correct sequence of the year of
judgment (new to old).

A. Mukesh Singh V/s NCT of Delhi

B. Yagoob Abdul Razzaq Menon V/s State of Maharastra
C. Navneet Kaur V/s Union of India

D. Mohd Ajmal Amir Kasab V/s State of Maharastra

E. A.S. Mohd.Rafi V/s State of Tamil Nadu

Choose the correct answer from the options given below:

1.LA,B,C.D.E
2.B.C,D.E, A
3.D,C,B.AE
4. C,B,A,D.E

11

(2) 2

(3) 3

(4) 4

HRA & I=AdH GEAad gR1 Uil FEfaRead Amdl iR [G9R SIGT 3R 39 Hofg & 9y & Srasd AR
(A1 9 WT=i) HeT 3IshH H qd U BT

A. b3 R 99 AP IS &

B. 1% 3{egd Aeh H d-H HERTY Iy

C. Fa-d DR §9H HRd U9

D. HlgHC ASTHA 3MHR HUTd S HERTY T
E. T. QY. AlgHS S diHd ATg I

HId fau e fadh el § U Tat 3R Bl 994 BifoIE:
iLARBRECDE
2. B.C.D.E.A
3. D\CB A E
4.C,B,A,D,E
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=40429] Question Description : law_law_set 1_english_q83
2[Option ID=40430]
3[Option ID=40431]
4[Option ID=40432]

Sl. No.84
QBID:158084

Arrange the following in proper sequence of taking place.

A. Intention
B. Preparation
C.Act

D. Conviction
E. Sentence

Choose the correct answer from the options given below:

LEDCB. A
Z2 A BC D E
3.B,C.D.E. A
4.D,C,B,AE




) 2
3) 3
(4) 4

FrafeRad 1 31 gfied g & I o IehH H HdRUd BIfT:

A, 3T
B. ORI
C. DR

D. aNfifg
E. ¢S

= fom e fashed! & 9 9El SR &1 994 S

1.E.D,C,B, A
2. BG D E
3.B.,C.D.E.A
4.0, C.B.AE

1) 1

) 2

(3) 3

(4) 4

1[Option ID=40433] Question Description : law_law_set 1_english_q84
2[Option ID=40434]
3[Option ID=40435]
4[Option ID=40436]

Sl. No.85
QBID:158085

Arrange the following cases yearwise (old to new) as per the year of the judgements delivered :

A. Sajjan Singh V/s State of Rajasthan
B. Kihota Hollohon V/s Zachilhu

C. L. Chandra Kumar V/s Union of India
D. Minerva Mills V/s Union of India

E. Azeez Basha V/s Union of India

Choose the correct answer from the options given below:




afcad aral &1 aiaR (W= 9 7di) & 9el srhH 1 ol fGU S drd 9 & S dR aiid Hifore:

A. T g 99 oM I
B. fpgIl Glelle S Siifdeg
C. Ud. I5HHR I HRA 99
D. ffal i 94 YRd 99
E. 3{Siiol 9120 &9 YRd I9

i< fau Y fdspedl 7 9 9g1 3R &1 99 Bifoiw:
1.A,B,C,D,E
2.E.D.C,B,A
3.E.A.D.B.C
4.AE.D,B.C
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=40437] Question Description : law_law_set 1_english_q85
2[Option ID=40438]
3[Option ID=40439]
4[Option ID=40440]

Sl. No.86
QBID:158086

Assertion A : Possession is said to be the nine points of the law.

Reason R : The person in possession of an object has better claim over it against the whole world except the real
owner.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is not the correct explanation of A
3. Ais correct but R is not correct
4. A is not correct but R is correct
1
(2 2
3) 3
(4) 4

19 & By ST TN §: Ub SHUPHYU (Assertion A) P & H feiRdd § l GHRI 3D BRI (Reason R) &
SO H:

DY A : ool D SR H Pl SId ¢ fob Dol [afe] BT 7d SN (AT @IIC)

DHRUIR : for il g TR el G- dTel Afdd & U1y 39 qRdidd WrHl & [ar, Yol SHrd &1 da-1 3 39
9% R g A g B |

IR HUF & 3ATdid H, 9 ST U fdhedi § 9 gl IR Bl 994 Il |

1. ARRGH I ¢ IRR A DI Uol ARAT &

2. ASRRIAITT g, Al R, A DI Ggl RS ol &
3. AUd g dibAR A ©

4 AI g AfFTRIT S

(1) 1
) 2
(3) 3
(4) 4

1[Option ID=40441] Question Description : law_law_set 1_english_q86




2[Option ID=40442]
3[Option ID=40443]
4[Option ID=40444]

Sl. No.87
QBID:158087

Assertion A : The Supreme Court has opined that the doctrine of Stare-decises is one of the important principles
of precedent.

Reason R : If the Supreme Court finds itself unable to accept the earlier view, it can decide the case in a different
way.

In the light of the above statement, choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is not the correct explanation of A
3. Ais correct but R is not correct
4. A is not correct but R is correct
(1
(2 2
3) 3
(4) 4

f1 €1 PU ST T B: Ub HIHBYU (Assertion A) & ¥ H feiRdd g dl GET 3¥b HRUT (Reason R) & T
H:

SHHDHUA A : F=ATH TG GRT SHH oferd fobal 71 g fob Foffargeror &1 Risid gd o & Agayul
R AU D ¢ |

BRI R : Al I AT 3 Yd b =BPIV Dl WBR B &b o UKl g1 dl g 14 = U H arg bl
AT R THN T |

SR HUF & Adb H, i ST U f[dhedi § 9 Ygl 3R Bl 994 il |

1.ARRGHI YT ¢ IR R AP Uel ARSAT &

2 AARRIHAITT g, dfFI R, A DI Ugl AR ol &
3. AT g dfbIR 3T ©

4. AMMIEAPTIRIT G

1) 1
) 2
3) 3
(4) 4

1[Option ID=40445] Question Description : law_law_set 1_english_q87
2[Option ID=40446]
3[Option ID=40447]
4[Option ID=40448]

Sl. No.88
QBID:158088

Assertion A: A Bigamous marriage is voidable under the Hindu Law.
Reason R : Children born out of void marriages are legitimate children of their parent.
In the light of the above statements, choose the correct answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is not the correct explanation of A
3. Ais true but R is false

4. A is false but R is true
1) 1
(2 2
(3) 3
4) 4




f1 €1 PU ST T B: Ub HIHBYU (Assertion A) & ¥ H feiRdd g dl GET 3¥b HRUT (Reason R) & T
H:

DU A - fgfaare, i fafy & sidvia gasoia ¢ |
DHRUIR : Y faargl Y Ide U §=1 Y AA1-Od & 4Hiel a=A gid g |
SWRITT DY & ATdID H, A (4T T f[ddhedi § H Yol 3R DI 99 DIoTT |

1LARREHAI TG IR R A DI ol ARA &

2. A3RR AT g, Wi R, A DI gl RS ol &
3. AU g dibAR A ©

4. ANFAEAPTIRIT G

11
(2) 2
(3) 3
(4) 4

1[Option ID=40449] Question Description : law_law_set 1_english_q88
2[Option ID=40450]
3[Option ID=40451]
4[Option ID=40452]

Sl. No.89
QBID:158089

Statement I : Law has its source in the general consciousness (volkgeist) of the people.
Statement II : Law is a product of the people's life, it is a manifestation of its spirit.
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but statement is incorrect

4. Statement I is incorrect but Statement II is correct
1) 1
() 2
(3) 3
4) 4

A S pyA e T B
DY 1 ; 31 1 HId AT BT =T a1 BT ifHAfR A B
BYUT 11 : faf 1T & Sitd Bl & 5. U8 I SMTcHT Bl ifHAfdI T |
SWRIdd HYT b 3MTcile H, < feu MU fdpedi # 9 ¥ 39gad IR &1 99 DIfST:
1. U1 3R I &I T8l &
2. HUA T AR 11 S e §
3. BYT TG 5, b YT 17T §
4. BYT 1T g, AfbT PUT T HS &
M 1
@ 2

(3) 3
(4) 4

1[Option ID=40453] Question Description : law_law_set 1_english_q89
2[Option ID=40454]
3[Option ID=40455]
4[Option ID=40456]




Sl. No.90
QBID:158090

Statement I ; Salmond says that common law is essentially judge-made law.
Statement-II : Pollock said that the common law is a customary law i.e. based on customs.
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

1) 1

(2 2

(3) 3

4) 4

4 a Py flGu U B
DU : YIS BT YA ¢ fob D1 ol gaia: Arnedir-Ffda fafe g |
DYTII: Uieish D1 YA § o BIH Al TGy fafel g 31 TUI3 TR 3TeMRd gkl ¢ |
SWRITT HYF & ATl H, A1 (4T T f[admedi § U Yol 3R DI 94 DIoIC:

1. HYTI RIS A ¢

2. FYTI AR I GHI A §

3. HYT 1T ¢, Al HYT I AT ¢

4. YT 3 B, AT PYT I HA B
1) 1
2) 2
(3) 3
(4) 4
1[Option ID=40457] Question Description : law_law_set 1_english_q90
2[Option ID=40458]

3[Option ID=40459]
4[Option ID=40460]

Sl. No.91
QBID:158091




If a copy of a Constitution is placed in the hands of a law student, it is sure that he will ask two questions. Firstly,
what is the form of Government that is envisaged in the Constitution; and secondly what is the form of the
Constitution? Form of the proposed Government is parliamentary. Form of the Draft Constitution is federal in as
much as it establishes what may be called a Dual policy. This dual policy under the proposed Constitution will
consist of the Union at the centre and the states at the periphery each endowed with sovereign powers to be
exercised in the field assigned to them respectively by the Constitution. Some critics have taken objection to the
description of India in Article 1 of the Constitution as a Union of States. It is said that the correct phraseology
should be federation of States. It is true that South Africa, which is a unitary State, is described as a Union. But
Canada. which is a federation is also called a Union. Thus, the description of India as a Union, though its
Counstitution is federal does no violence to usage. But what is important is that the use of the word union is
deliberate. As Dr. Ambedkar has said, "I do not know why the word 'Union' was used in the Canadian
Constitution. But I can tell you why the Drafting Committee has used it in context of India. The Drafting
Committee wanted to make it clear that though India was to be a federation, the federation was not the result of
an agreement by the States to join in a federation and that federation not being the result of an agreement, no
state has the right to secede from it. The Federation is a Union because it is indestructible. Though the country
and the people may be divided into different states for convenience of administration the country is one integral
whole, its people a single people living under a single imperium derived from a single source. The Americans
had to wage a civil war to establish that the states have no right of secession and that their federation was
indestructible. The Drafting committee thought that it was better to make it clear at the outset rather than to leave
it fo speculation or to dispute.

fofatad T 3 ufed iR S99 Ieferd usi & I i

e Tiau™ P te ufd fafe & it faemdf & i o X6 S/ o 98 <1 WY 3= ST | Ugdl, Sigu™ &
AT [ YPR & AN DT WY H=1 7 § AR GO, WG BT WY hdl g 2 Wdlidd A Dl
WEY UL g | 39 HauTH-d Uy (Gxdiaol) J U uRIH T g iedd 8, o gg fgxaiid =
UITet! b1 Joid Dl & | 39 UTidd Hfder H fgadid - Worell & Siavid dw= J 9 9 39! uRiy &
RIo4] D1 @1 T & (59 A Y 3fu-304 &7 # Hidu™ gR1 yed duy Afeqdl o1y &3 | $8
ATAIEd AU & 3g=da-1 | aiofd "HRd Il &1 U4 SR & Yid YT X ¢ | 9 el 11 § [ SHqdl
g1 uaTact 1ol B YR (BRI 3% ¥cH) gl 91T | U8 I g b SIa1 oipiehI, ot Ubdh
@edl) 34 8. 3 A9 (G[AgH) & Y H afold fbar g | b Bers ol fob ulRey (heiw) § 39 4y
@A) SR g | FHAY HRd & I (F[1+) & ¥4 H qui, JeIft 391 Sider qREgIdHs (heer) 3.
Y 39 91d BT ey el g1 8T ¢ | At gl oif 91d 3if¥® Agd IWdl & 98 U8 ¢ [ U Weg &I YANT
faaTid g | oI fdb ST, SIS A dgl ¢ b, "2l Ag! Udl b BIS] o WIaul H e sg T YR il
foreT 11 § 2 AfSh & I 31a%a 91 Yabdl § b HIRA & UiRvied | Yoy A = a1 Ui & fhan g 2
Yoy Al a8 WY D <1 it At i gaft HRd o1 U g™ 941 o1, fob-q g8 gies Ial & A guU
foh it TSI 1 TRUTH =gl AT 3R T8 9 ol Trgiia & Siavid Sifkad o -Te! mar o | 3fa: fard! off
T BT ST 3T g4 BT MUSR 6l ¢ | T8 IRIY U IY ¢ quifd gg gl § | iy 37 3R 39&
T 1 gt gfaer o 2P 4 fafir sl # i i ST 9@l 8, Reg S & ¢, 396 AT Ud ©
Sl U Bl AR & 3f¢F X8 6 & 3R UIaUM ol 39 AR &1 Uh JF Iid ¢ | ARG o dl 39 w1fud
DR & (AU U T g el Ul Ul forad Ig g g3 fob Aol D1 gush g1 &1 Dl AHUHR 181 § 3R
IF1 gAY 2faQus-a g | URU TiHfd = I i g8 oMy # 81 TV &2 &1 3fd § 99 59 fh suH
PIg Sfchaarl g1 [dare B Yozl T8 |

Americans had to struggle very hard (to the extent of civil war) to establish to which of the following ?

1. America had dual policy
2. Federation was indestructible
3. States have their own constitution separate from a federal constitution
4, States have right to secede
1) 1
(2 2
(3) 3
(4) 4




SARTBT! 1 Tggs & ©U H 5 # I 1 RAIMUd B gd fties Juy B Ue ol 2

1. 3HR®T P g¢f ey ot

2. ORYY 3ffagueHIg o

3. 34T & IR e Sfgem O ora gy g
4. U1 & YT YU Bl BT PR 3

(1) 1

(2) 2

3) 3

4) 4

1[Option ID=40461] Question Description : law_law_set 1_english_q91
2[Option ID=40462]

3[Option ID=40463]
4[Option ID=40464]
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If a copy of a Constitution is placed in the hands of a law student, it is sure that he will ask two questions. Firstly,
what is the form of Government that is envisaged in the Constitution; and secondly what is the form of the
Constitution? Form of the proposed Government is parliamentary. Form of the Draft Constitution is federal in as
much as it establishes what may be called a Dual policy. This dual policy under the proposed Constitution will
consist of the Union at the centre and the states at the periphery each endowed with sovereign powers to be
exercised in the field assigned to them respectively by the Constitution. Some critics have taken objection to the
description of India in Article 1 of the Constitution as a Union of States. It is said that the correct phraseology
should be federation of States. It is true that South Africa, which is a unitary State, is described as a Union. But
Canada. which is a federation is also called a Union. Thus, the description of India as a Union, though its
Counstitution is federal does no violence to usage. But what is important is that the use of the word union is
deliberate. As Dr. Ambedkar has said, "I do not know why the word 'Union' was used in the Canadian
Constitution. But I can tell you why the Drafting Committee has used it in context of India. The Drafting
Committee wanted to make it clear that though India was to be a federation, the federation was not the result of
an agreement by the States to join in a federation and that federation not being the result of an agreement, no
state has the right to secede from it. The Federation is a Union because it is indestructible. Though the country
and the people may be divided into different states for convenience of administration the country is one integral
whole, its people a single people living under a single imperium derived from a single source. The Americans
had to wage a civil war to establish that the states have no right of secession and that their federation was
indestructible. The Drafting committee thought that it was better to make it clear at the outset rather than to leave
it fo speculation or to dispute.

fofatad T 3 ufed iR S99 Ieferd usi & I i

gfe Gfau™ &t U ufa fafer & fordt faemdt & g1ui & 351 S/ df 98 & U 390 ST | Ugdl, Uiau = &
AT [ YPR & AN DT WY H=1 7 § AR GO, WG BT WY hdl g 2 Wdlidd A Dl
WEY UL g | 39 HauTH-d Uy (Gxdiaol) J U uRIH T g iedd 8, o gg fgxaiid =
UITet! b1 Joid Dl & | 39 UTidd Hfder H fgadid - Worell & Siavid dw= J 9 9 39! uRiy &
RIo4] D1 @1 T & (59 A Y 3fu-304 &7 # Hidu™ gR1 yed duy Afeqdl o1y &3 | $8
ATAIEd AU & 3g=da-1 | aiofd "HRd Il &1 U4 SR & Yid YT X ¢ | 9 el 11 § [ SHqdl
g1 uaTact 1ol B YR (BRI 3% ¥cH) gl 91T | U8 I g b SIa1 oipiehI, ot Ubdh
@edl) 34 8. 3 A9 (G[AgH) & Y H afold fbar g | b Bers ol fob ulRey (heiw) § 39 4y
@A) SR g | FHAY HRd & I (F[1+) & ¥4 H qui, JeIft 391 Sider qREgIdHs (heer) 3.
Y 39 91d BT ey el g1 8T ¢ | At gl oif 91d 3if¥® Agd IWdl & 98 U8 ¢ [ U Weg &I YANT
faaTid g | oI fdb ST, SIS A dgl ¢ b, "2l Ag! Udl b BIS] o WIaul H e sg T YR il
foreT 11 § 2 AfSh & I 31a%a 91 Yabdl § b HIRA & UiRvied | Yoy A = a1 Ui & fhan g 2
Yoy Al a8 WY D <1 it At i gaft HRd o1 U g™ 941 o1, fob-q g8 gies Ial & A guU
Tt THRIT &1 URUTH ol T 3R T8 g bl IHgiia & 3iciia 2R | ol 3Mar U7 | 3c: fopt o
T BT ST 3T g4 BT MUSR 6l ¢ | T8 IRIY U IY ¢ quifd gg gl § | iy 37 3R 39&
T 1 gt gfaer o 2P 4 fafir sl # i i ST 9@l 8, Reg S & ¢, 396 AT Ud ©
Sl U Bl AR & 3f¢F X8 6 & 3R UIaUM ol 39 AR &1 Uh JF Iid ¢ | ARG o dl 39 w1fud
DR & (AU U T g el Ul Ul forad Ig g g3 fob Aol D1 gush g1 &1 Dl AHUHR 181 § 3R
IF1 gAY 2faQus-a g | URU TiHfd = I i g8 oMy # 81 TV &2 &1 3fd § 99 59 fh suH
PIg Sfchaarl g1 [dare B Yozl T8 |

Form of Government and Form of the Constitution are:

1. Same concepts
2. Obsolete Concepts
3. Irrelevant Concepts
4. Different Concepts
1) 1
() 2
3) 3
4) 4
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If a copy of a Constitution is placed in the hands of a law student, it is sure that he will ask two questions. Firstly,
what is the form of Government that is envisaged in the Constitution; and secondly what is the form of the
Constitution? Form of the proposed Government is parliamentary. Form of the Draft Constitution is federal in as
much as it establishes what may be called a Dual policy. This dual policy under the proposed Constitution will
consist of the Union at the centre and the states at the periphery each endowed with sovereign powers to be
exercised in the field assigned to them respectively by the Constitution. Some critics have taken objection to the
description of India in Article 1 of the Constitution as a Union of States. It is said that the correct phraseology
should be federation of States. It is true that South Africa, which is a unitary State, is described as a Union. But
Canada. which is a federation is also called a Union. Thus, the description of India as a Union, though its
Counstitution is federal does no violence to usage. But what is important is that the use of the word union is
deliberate. As Dr. Ambedkar has said, "I do not know why the word 'Union' was used in the Canadian
Constitution. But I can tell you why the Drafting Committee has used it in context of India. The Drafting
Committee wanted to make it clear that though India was to be a federation, the federation was not the result of
an agreement by the States to join in a federation and that federation not being the result of an agreement, no
state has the right to secede from it. The Federation is a Union because it is indestructible. Though the country
and the people may be divided into different states for convenience of administration the country is one integral
whole, its people a single people living under a single imperium derived from a single source. The Americans
had to wage a civil war to establish that the states have no right of secession and that their federation was
indestructible. The Drafting committee thought that it was better to make it clear at the outset rather than to leave
it fo speculation or to dispute.

fofatad T 3 ufed iR S99 Ieferd usi & I i

e Tiau™ P te ufd fafe & it faemdf & i o X6 S/ o 98 <1 WY 3= ST | Ugdl, Sigu™ &
AT [ YPR & AN DT WY H=1 7 § AR GO, WG BT WY hdl g 2 Wdlidd A Dl
WEY UL g | 39 HauTH-d Uy (Gxdiaol) J U uRIH T g iedd 8, o gg fgxaiid =
UITet! b1 Joid Dl & | 39 UTidd Hfder H fgadid - Worell & Siavid dw= J 9 9 39! uRiy &
RIo4] D1 @1 T & (59 A Y 3fu-304 &7 # Hidu™ gR1 yed duy Afeqdl o1y &3 | $8
ATAIEd AU & 3g=da-1 | aiofd "HRd Il &1 U4 SR & Yid YT X ¢ | 9 el 11 § [ SHqdl
g1 uaTact 1ol B YR (BRI 3% ¥cH) gl 91T | U8 I g b SIa1 oipiehI, ot Ubdh
@edl) 34 8. 3 A9 (G[AgH) & Y H afold fbar g | b Bers ol fob ulRey (heiw) § 39 4y
@A) SR g | FHAY HRd & I (F[1+) & ¥4 H qui, JeIft 391 Sider qREgIdHs (heer) 3.
Y 39 91d BT ey el g1 8T ¢ | At gl oif 91d 3if¥® Agd IWdl & 98 U8 ¢ [ U Weg &I YANT
faaTid g | oI fdb ST, SIS A dgl ¢ b, "2l Ag! Udl b BIS] o WIaul H e sg T YR il
foreT 11 § 2 AfSh & I 31a%a 91 Yabdl § b HIRA & UiRvied | Yoy A = a1 Ui & fhan g 2
Yoy Al a8 WY D <1 it At i gaft HRd o1 U g™ 941 o1, fob-q g8 gies Ial & A guU
foh it TSI 1 TRUTH =gl AT 3R T8 9 ol Trgiia & Siavid Sifkad o -Te! mar o | 3fa: fard! off
T BT ST 3T g4 BT MUSR 6l ¢ | T8 IRIY U IY ¢ quifd gg gl § | iy 37 3R 39&
T 1 gt gfaer o 2P 4 fafir sl # i i ST 9@l 8, Reg S & ¢, 396 AT Ud ©
Sl U Bl AR & 3f¢F X8 6 & 3R UIaUM ol 39 AR &1 Uh JF Iid ¢ | ARG o dl 39 w1fud
DR & (AU U T g el Ul Ul forad Ig g g3 fob Aol D1 gush g1 &1 Dl AHUHR 181 § 3R
IF1 gAY 2faQus-a g | URU TiHfd = I i g8 oMy # 81 TV &2 &1 3fd § 99 59 fh suH
PIg Sfchaarl g1 [dare B Yozl T8 |

Like Union, the states are endowed with sovereign powers. This sovereign power of states is:

1. Unlimited
2. Determined by the Constitution
3. Limited by International Law
4. Guided by Jurisprudence

1) 1

(2 2

(3) 3

(4) 4




Y Bl X ASA! & UI Ty Al g | I 1 g duy Al o

APy fafe grr Hiffd
4. faferamed gy fd fRia
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If a copy of a Constitution is placed in the hands of a law student, it is sure that he will ask two questions. Firstly,
what is the form of Government that is envisaged in the Constitution; and secondly what is the form of the
Constitution? Form of the proposed Government is parliamentary. Form of the Draft Constitution is federal in as
much as it establishes what may be called a Dual policy. This dual policy under the proposed Constitution will
consist of the Union at the centre and the states at the periphery each endowed with sovereign powers to be
exercised in the field assigned to them respectively by the Constitution. Some critics have taken objection to the
description of India in Article 1 of the Constitution as a Union of States. It is said that the correct phraseology
should be federation of States. It is true that South Africa, which is a unitary State, is described as a Union. But
Canada. which is a federation is also called a Union. Thus, the description of India as a Union, though its
Counstitution is federal does no violence to usage. But what is important is that the use of the word union is
deliberate. As Dr. Ambedkar has said, "I do not know why the word 'Union' was used in the Canadian
Constitution. But I can tell you why the Drafting Committee has used it in context of India. The Drafting
Committee wanted to make it clear that though India was to be a federation, the federation was not the result of
an agreement by the States to join in a federation and that federation not being the result of an agreement, no
state has the right to secede from it. The Federation is a Union because it is indestructible. Though the country
and the people may be divided into different states for convenience of administration the country is one integral
whole, its people a single people living under a single imperium derived from a single source. The Americans
had to wage a civil war to establish that the states have no right of secession and that their federation was
indestructible. The Drafting committee thought that it was better to make it clear at the outset rather than to leave
it fo speculation or to dispute.

fofatad T 3 ufed iR S99 Ieferd usi & I i

e Tiau™ P te ufd fafe & it faemdf & i o X6 S/ o 98 <1 WY 3= ST | Ugdl, Sigu™ &
AT [ YPR & AN DT WY H=1 7 § AR GO, WG BT WY hdl g 2 Wdlidd A Dl
WEY UL g | 39 HauTH-d Uy (Gxdiaol) J U uRIH T g iedd 8, o gg fgxaiid =
UITet! b1 Joid Dl & | 39 UTidd Hfder H fgadid - Worell & Siavid dw= J 9 9 39! uRiy &
RIo4] D1 @1 T & (59 A Y 3fu-304 &7 # Hidu™ gR1 yed duy Afeqdl o1y &3 | $8
ATAIEd AU & 3g=da-1 | aiofd "HRd Il &1 U4 SR & Yid YT X ¢ | 9 el 11 § [ SHqdl
g1 uaTact 1ol B YR (BRI 3% ¥cH) gl 91T | U8 I g b SIa1 oipiehI, ot Ubdh
@edl) 34 8. 3 A9 (G[AgH) & Y H afold fbar g | b Bers ol fob ulRey (heiw) § 39 4y
@A) SR g | FHAY HRd & I (F[1+) & ¥4 H qui, JeIft 391 Sider qREgIdHs (heer) 3.
Y 39 91d BT ey el g1 8T ¢ | At gl oif 91d 3if¥® Agd IWdl & 98 U8 ¢ [ U Weg &I YANT
faaTid g | oI fdb ST, SIS A dgl ¢ b, "2l Ag! Udl b BIS] o WIaul H e sg T YR il
foreT 11 § 2 AfSh & I 31a%a 91 Yabdl § b HIRA & UiRvied | Yoy A = a1 Ui & fhan g 2
Yoy Al a8 WY D <1 it At i gaft HRd o1 U g™ 941 o1, fob-q g8 gies Ial & A guU
foh it TSI 1 TRUTH =gl AT 3R T8 9 ol Trgiia & Siavid Sifkad o -Te! mar o | 3fa: fard! off
T BT ST 3T g4 BT MUSR 6l ¢ | T8 IRIY U IY ¢ quifd gg gl § | iy 37 3R 39&
T 1 gt gfaer o 2P 4 fafir sl # i i ST 9@l 8, Reg S & ¢, 396 AT Ud ©
Sl U Bl AR & 3f¢F X8 6 & 3R UIaUM ol 39 AR &1 Uh JF Iid ¢ | ARG o dl 39 w1fud
DR & (AU U T g el Ul Ul forad Ig g g3 fob Aol D1 gush g1 &1 Dl AHUHR 181 § 3R
IF1 gAY 2faQus-a g | URU TiHfd = I i g8 oMy # 81 TV &2 &1 3fd § 99 59 fh suH
PIg Sfchaarl g1 [dare B Yozl T8 |

What did the Drafting Committee want to make clear at the outset ?

1. The form of Government is parliamentary
2. The Constitution envisages dual polity
3. The States have no right to secession
4. Canada is a federation
)1
(2 2
(3) 3
(4) 4
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If a copy of a Constitution is placed in the hands of a law student, it is sure that he will ask two questions. Firstly,
what is the form of Government that is envisaged in the Constitution; and secondly what is the form of the
Constitution? Form of the proposed Government is parliamentary. Form of the Draft Constitution is federal in as
much as it establishes what may be called a Dual policy. This dual policy under the proposed Constitution will
consist of the Union at the centre and the states at the periphery each endowed with sovereign powers to be
exercised in the field assigned to them respectively by the Constitution. Some critics have taken objection to the
description of India in Article 1 of the Constitution as a Union of States. It is said that the correct phraseology
should be federation of States. It is true that South Africa, which is a unitary State, is described as a Union. But
Canada. which is a federation is also called a Union. Thus, the description of India as a Union, though its
Counstitution is federal does no violence to usage. But what is important is that the use of the word union is
deliberate. As Dr. Ambedkar has said, "I do not know why the word 'Union' was used in the Canadian
Constitution. But I can tell you why the Drafting Committee has used it in context of India. The Drafting
Committee wanted to make it clear that though India was to be a federation, the federation was not the result of
an agreement by the States to join in a federation and that federation not being the result of an agreement, no
state has the right to secede from it. The Federation is a Union because it is indestructible. Though the country
and the people may be divided into different states for convenience of administration the country is one integral
whole, its people a single people living under a single imperium derived from a single source. The Americans
had to wage a civil war to establish that the states have no right of secession and that their federation was
indestructible. The Drafting committee thought that it was better to make it clear at the outset rather than to leave
it fo speculation or to dispute.

fofatad T 3 ufed iR S99 Ieferd usi & I i

e dfqur o1 v ufd fafer & fae faemdf o gruf & X6 S/ a1 98 &l Uy 39 ST | Ugdl, gy &
AT [ YPR & AN DT WY H=1 7 § AR GO, WG BT WY hdl g 2 Wdlidd A Dl
WEY UL g | 39 HauTH-d Uy (Gxdiaol) J U uRIH T g iedd 8, o gg fgxaiid =
UITet! b1 Joid Dl & | 39 UTidd Hfder H fgadid - Worell & Siavid dw= J 9 9 39! uRiy &
RIo4] D1 @1 T & (59 A Y 3fu-304 &7 # Hidu™ gR1 yed duy Afeqdl o1y &3 | $8
ATAIEd AU & 3g=da-1 | aiofd "HRd Il &1 U4 SR & Yid YT X ¢ | 9 el 11 § [ SHqdl
g1 uaTact 1ol B YR (BRI 3% ¥cH) gl 91T | U8 I g b SIa1 oipiehI, ot Ubdh
@edl) 34 8. 3 A9 (G[AgH) & Y H afold fbar g | b Bers ol fob ulRey (heiw) § 39 4y
@A) SR g | FHAY HRd & I (F[1+) & ¥4 H qui, JeIft 391 Sider qREgIdHs (heer) 3.
Y 39 91d BT ey el g1 8T ¢ | At gl oif 91d 3if¥® Agd IWdl & 98 U8 ¢ [ U Weg &I YANT
faaTid g | oI fdb ST, SIS A dgl ¢ b, "2l Ag! Udl b BIS] o WIaul H e sg T YR il
foreT 11 § 2 AfSh & I 31a%a 91 Yabdl § b HIRA & UiRvied | Yoy A = a1 Ui & fhan g 2
Yoy Al a8 WY D <1 it At i gaft HRd o1 U g™ 941 o1, fob-q g8 gies Ial & A guU
fop il vt 1 uRomd A6l o1 21k gg ulked bt qugiid & iard sifaa o eT o o1 | 3a: faddt off
T BT ST 3T g4 BT MUSR 6l ¢ | T8 IRIY U IY ¢ quifd gg gl § | iy 37 3R 39&
T 1 gt gfaer o 2P 4 fafir sl # i i ST 9@l 8, Reg S & ¢, 396 AT Ud ©
Sl U Bl AR & 3f¢F X8 6 & 3R UIaUM ol 39 AR &1 Uh JF Iid ¢ | ARG o dl 39 w1fud
DR & (AU U T g el Ul Ul forad Ig g g3 fob Aol D1 gush g1 &1 Dl AHUHR 181 § 3R
IF1 gAY 2faQus-a g | URU TiHfd = I i g8 oMy # 81 TV &2 &1 3fd § 99 59 fh suH
PIg Sfchaarl g1 [dare B Yozl T8 |

Article 1 of the Constitution of India uses the phrase "Union of States", though it is a "Federation". The correct
phraseology need not be "Federation of States" because :

1. "Union of States" phrase does not necessarily mean Unitary State.
2. A federation need not necessarily use the terminology "Federation of States".
3. Canada 1s an established federation but uses the word "Union".
4. All the above
1
(2) 2
(3) 3
(4) 4




HRAI WG BT 2= 1 Tl DI 9 U] BT WIRT Hdl & il Ug URIY ¢ | ¥l uerdal Il
D1 YR SR g1 & Fifeh-

1. Tl DT 9T UG P AR agdH €0 4 UHd o] el o
2. TP GRIY DI TGP U I 41 BT URUY UG ] YA B3 D oedd ol §
3. HTST R GREY g fob= dg ' Qsc; I WANT Bl &
4. IURIad g4t
(1) 1
(2) 2
(3) 3
(4) 4
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4[Option ID=40480]
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Sting operation is a phenomenon which became popular in 1970s. With the advent of technology and internet,
sting operation is no more monopoly of media houses or big players. Being essentially a deceptive operation,
though designed to nab a criminal, a sting operation raises certain moral and ethical questions besides legal
issues. The victim, who is otherwise innocent, is lured into committing a crime on the assurance of absolute
secrecy and confidentiality of the circumstances raising the potential question as to how such a victim can be
held responsible for the crime which he would not have committed but for the enticement. Another issue that
arises from such an operation is the fact that the means deployed to establish the commission of the crime itself
involves a culpable act. In the U.S. a sting operation is recognized as a legal method of law enforcement in a
limited manner. The same is not the position in India. A sting operation carried out in public interest has had the
approval of Court in R.K. Anand V/s Registrar, Delhi High Court (2009) though it will be difficult to understand
the ratio in the said case as an approval of such a method as an acceptable principle of law enforcement valid in
all cases. A crime does not stand obliterated or extinguished merely because its commission is claimed to be in
public interest. Any such principle would be abhorrent to our criminal jurisprudence. At the same time the
criminal intent behind the commission of the act will have to be established. The offence of abetment (section
107), criminal conspiracy (Section 120A) s 354C, 354D under IPC and some provisions of the Information
Technology Act, 2000 would, thus, require criminal intent.

frafefad meie o1 gfeT iR fau e el & IR 2o

RS SO T 921 g Sl 1970 & GRID H dlbIUA g3 | WIERIH] (dh-ilfdh) 3R S b A b
TTd RET YT 39 HIfSTT @R 1 g9 HUHU/UIdSHI &1 THIUPR ol el | eI T e
fomeit SroRTEh & gepe & foe fEwg fovan SiraT 5, TR ddh gg Sffarid: T H9eyr! oM &, e
fTqRerA fafere gl & 1y g diaug Afd® <R SifdRe gare @s1 drdl ¢ | 39& RaR i =541 Felv g
forer gof o 3R uRRfAaT 1 MU=l & 31rE W SWR1Y B & fog URd fbar i g fSrad ag
GH1fdd Fared Ua1 gidl & fob fobedl IR 1 U 3uRTY o [Ty ITRER 38-11 Sl Yebdl & o 98 ey &
{1 98T DT | T IR Y GIRI WY I8 3@ gldl ¢ b AR S R DHRA o [e7T UGk FreH/
TR -39 H HTRIYD B § | S Aod SHRDT H RET U= & Hid avics § fafe) yad= &1
BT AT HHTSTAr 8 | HRd | U RUfd 81 B | SFifed H [T 7 9T SRR 1 3R, 3113 1|
RfSRER, faedt 3= <amre (2009) H ARITE H1 SHIe U ¢ | gTalie gy Amal & 9e-fafy gad— &
i Rigid & &Y 4 Ul [9fY & siHie & &9 1 39d d1e H HMUiI4R o a1 gfesd g | SRy
ik 59 goig ¥ @ U1 fie et ofrar i 34 SHfed H S &1 Sa1 fHaI ST g | 1 &l Rgid gAR
STy Heiefl fafer=ma & ufdere R | 14 1, 39 S & Ui MURIieD 3R I Hi R BT I |
HRT &8 dfedr, & 31efi TRIRUM BT 3URTE (HYRT 107). ATRTID TSUA (URT 120 P) URT354 71, 354 G
ferg. T2t a1 ud Wieifient sifeirre. 2000 H S IUa=i & el SRS AR BT SUa gRil |

Sting Operation raises:

. Moral and ethical question only

. Legal questions only

. Moral, Ethical as well as legal questions
. Social and religions questions

i b —

=




(1) 1
(2) 2
(3) 3
(4) 4

e 3= e Hdl &

1. Had Afdd 3R AIfdue gard

2. Dad DIl FaId
3, Afae. Aifque iR fafe gdsht gara
4. grHISE 3R i gard

1) 1

(2) 2

(3) 3

4) 4
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Sting operation is a phenomenon which became popular in 1970s. With the advent of technology and internet,
sting operation is no more monopoly of media houses or big players. Being essentially a deceptive operation,
though designed to nab a criminal, a sting operation raises certain moral and ethical questions besides legal
issues. The victim, who is otherwise innocent, is lured into committing a crime on the assurance of absolute
secrecy and confidentiality of the circumstances raising the potential question as to how such a victim can be
held responsible for the crime which he would not have committed but for the enticement. Another issue that
arises from such an operation is the fact that the means deployed to establish the commission of the crime itself
involves a culpable act. In the U.S. a sting operation is recognized as a legal method of law enforcement in a
limited manner. The same is not the position in India. A sting operation carried out in public interest has had the
approval of Court in R.K. Anand V/s Registrar, Delhi High Court (2009) though it will be difficult to understand
the ratio in the said case as an approval of such a method as an acceptable principle of law enforcement valid in
all cases. A crime does not stand obliterated or extinguished merely because its commission is claimed to be in
public interest. Any such principle would be abhorrent to our criminal jurisprudence. At the same time the
criminal intent behind the commission of the act will have to be established. The offence of abetment (section
107), criminal conspiracy (Section 120A) s 354C, 354D under IPC and some provisions of the Information
Technology Act, 2000 would, thus, require criminal intent.

ffaRad ey ®i gfeu 2R 3T 70 U & S| <o

ST 3O T 921 g S 1970 & GXD U dAb T g3 | WS (ddhiids) 3R $ex4c & A &
TaTq &7 3R 3| Hifear TR 1 9a1 Hulal ufdgF! &1 UhUaR T8 TeT | geft R e
faret srRTelt @t uepen & o fegA fovan Siran 8. g 9feh I sifarfd: U dueyn! ofimReH g, f&n
IR fafee el & 91y g Biauy i@ AR ifquRe qare Ge1 Sl & | 39d QISR Sl 3=2y7 Fev §
FoTeY ot o=t 3R uRIRTATT 1 MU= & 31T IR IRIY B oD g URd 61 i1 ¢ oo a8
G1fdd gard Ual gidl ¢ 1o bl FRIGR &1 U 3uRTe & [0 ITRER 3811 S Yol g (o1 dg YalH— &
a1 8T BT | T SRR I GERT U I8 I Bidl © b AIRIUP P R DR o [e1T Ugerd Fref/
ARl 3UH-319 H SRIYP B 5 | T g SHRDI H RET SR & HifFd dlich 3 fafe) gad- &t
BT fafe AT STar g | 9Rd § U fRufd 81 § | Sifed o foh U 17T T SIIRRM 1 3R &, 311+ 19
ISRER, fawelt 3= =amamad (2009) T TATed o1 SHIG Ui § | gTale 9t anral 3 qe-fafe vyad &
i Rigid & w9 H Ul fale & srHiad & =0 H 3ad arg H FURIeR &1 GHgHET 3R d g | ORI
it 39 goig ¥ @ T fHe gl SI1dl [ifd 34 SiHfed H SR ®I aral fha1 Sidl g | Tl $ls [Gid gHIR
SRy Heelt fafer=me= & gfdhd g | 91U &1 38 d & Ul IS SHTRT Dbl Hi RITTUT BT gHT |
YR &8 Hfgdr, & 31efiF THIRON BT IR (HRT 107). ATIRIYD TSTA (YRT 120 P) URT354 71,354
[eTg. U1 T ud Uielifient Sifei-am, 2000 H $& IUa=l o 3iefi SRS AT=RT BT AUST SR |




A sting operation, though designed to catch a criminal, is questionable because

1. The person is lured into committing it

2. There is false assurance of absolute secrecy
3. Means deployed itself involves criminal act
4. All the above

1

) 2

(3) 3

(@) 4

T R SRR, F2f a6 SroRiferl 1 udhe & forg R f35ar Sirar 8, IR 8 WY & aig gl g,
ife

1. for et oarfert i SfuRTe B3 & feiw URd fobar Sirdn 3
2. gUT Tl o1 BT SHTHTE I8l &

3. 39 [o1C Uga T1eH Wah: H SRS $d

4. IURIST H  gH
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Sting operation is a phenomenon which became popular in 1970s. With the advent of technology and internet,
sting operation is no more monopoly of media houses or big players. Being essentially a deceptive operation,
though designed to nab a criminal, a sting operation raises certain moral and ethical questions besides legal
issues. The victim, who is otherwise innocent, is lured into committing a crime on the assurance of absolute
secrecy and confidentiality of the circumstances raising the potential question as to how such a victim can be
held responsible for the crime which he would not have committed but for the enticement. Another issue that
arises from such an operation is the fact that the means deployed to establish the commission of the crime itself
involves a culpable act. In the U.S. a sting operation is recognized as a legal method of law enforcement in a
limited manner. The same is not the position in India. A sting operation carried out in public interest has had the
approval of Court in R.K. Anand V/s Registrar, Delhi High Court (2009) though it will be difficult to understand
the ratio in the said case as an approval of such a method as an acceptable principle of law enforcement valid in
all cases. A crime does not stand obliterated or extinguished merely because its commission is claimed to be in
public interest. Any such principle would be abhorrent to our criminal jurisprudence. At the same time the
criminal intent behind the commission of the act will have to be established. The offence of abetment (section
107), criminal conspiracy (Section 120A) s 354C, 354D under IPC and some provisions of the Information
Technology Act, 2000 would, thus, require criminal intent.

AR TTerier i gfeu 2R 3T U us & IR <ifoie:

ST SRR T 921 g Sl 1970 & &GP H dlbiU g5 | W] (doh-ilfd) 3R Sexc & AR &
TaTd RET IR 39 HST TRH 1 g1 HUH-al/HidgHI &1 TSR Tol Xal | eIy & aimeH
faret sroRTelt @t upe & o feg fova Siran 8. g 9fe g¢ ifarfa: th dueyrf o 8, f&n
IR fafee Hel & 1Y g1 Blauy ide SR HifduRe qare Gs1 Sl g | 39d RISR Sl =91 Felv g
fSrer gof o 3R uRRFaaT 1 MU=l & S1yTE IR iRy B b fau URd 61 i § forad ag
GG TaTe Ul gidl ¢ & [l ISR &1 T StRTy & fo1e ItRard 3801 ol Udbhdl ¢ fordl 9 Ualv- &
[T 98T BHRAT | T SRR Y GERT WY I8 3M@ aldl g 1o AURIUP Hd RITUT HR @ [e18 TG FreF/
ARl 3UH-319 H SRIYP B 5 | WY o SHRDI H RET SR & HifAd dlieh J fafe) gad- ot
BT [l HETSTar 8 | HRd H U RUfd 8l 8 | Sifed | T 7 9T SR i 3R, 311+ 1|
SRR, faeel 3= =armad (2009) T rATed 1 SHIG Uik § | gTalie it amral 4 du-fafey yada &
Hipr Rgid & &9 1 Ul 919 & 3Hia & 9 1 39 d1g H MUY R & Gag1 gRebd gt | $OR1Y
O 39 goig U @ T [He 81 SI1d1 Hifd 34 SiHied H BRI &1 aral f[ha1 Sidl g | Tl $is (G gHR
SRy Heelt faferme= & gfdd g1 | T 8l 380 A & Ul HTIRITED ITRT Dbl Hi RITUT BT gHT |
YR &8 Hfgdr, & 31efie THIR0M BT 3URTE (HRT 107). ATIRID TSUA (URT 120 P) URT354 1,354 G
feTT. U1 =11 Ud Wrelifiant Sifef-ae, 2000 H H0 I & 3{efi SRS AT BT U&T GHI |

The legal status of sting operation in US and India is:

1. Same
2. Not same
3. Same only, if done in public interest
4. Not same because all sting operations are punishable under Information Technology Act, 2000.
(1
(2) 2
(3) 3
(4) 4

Yo o0 SARDT HR YR H 7 ofiqr i fafdes fufa g -

1. GH

2. 3THM

3. A Sdfd SHfgd H fbar &g

4. A g1, aifes T+ RET SR =1 Weiffes! SifiaH, 2000 & sfefi S+ g
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Sting operation is a phenomenon which became popular in 1970s. With the advent of technology and internet,
sting operation is no more monopoly of media houses or big players. Being essentially a deceptive operation,
though designed to nab a criminal, a sting operation raises certain moral and ethical questions besides legal
issues. The victim, who is otherwise innocent, is lured into committing a crime on the assurance of absolute
secrecy and confidentiality of the circumstances raising the potential question as to how such a victim can be
held responsible for the crime which he would not have committed but for the enticement. Another issue that
arises from such an operation is the fact that the means deployed to establish the commission of the crime itself
involves a culpable act. In the U.S. a sting operation is recognized as a legal method of law enforcement in a
limited manner. The same is not the position in India. A sting operation carried out in public interest has had the
approval of Court in R.K. Anand V/s Registrar, Delhi High Court (2009) though it will be difficult to understand
the ratio in the said case as an approval of such a method as an acceptable principle of law enforcement valid in
all cases. A crime does not stand obliterated or extinguished merely because its commission is claimed to be in
public interest. Any such principle would be abhorrent to our criminal jurisprudence. At the same time the
criminal intent behind the commission of the act will have to be established. The offence of abetment (section
107), criminal conspiracy (Section 120A) s 354C, 354D under IPC and some provisions of the Information
Technology Act, 2000 would, thus, require criminal intent.

AR TTerier #i gfeu 2R f3T U us & IR <ifoie:

RT3 T 921 g Sl 1970 & G U dlb iUl g5 | W] (doh-iiidh) 3R Sex4c & R &
TaTd RET AT 319 HifSar sRH 11 g8t Huf-alufagEl &1 THIiadR Tl 3a1 | Teft & aimeH
faret sroRTelt @t upe & o feg fova Siran 8. g 9fe g¢ ifarfa: th dueyrf o 8, f&n
IR fafee Hel & 1Y g Biauy i@ SR HifduRe qare Gs1 Sl g | 39d RISR Sl 391 Felv g
fSre gof o 3R uRRFAaT 1 MU=l & S1yTE IR SRy B b fag URd b1 i g forad ag
UG TaTe Uel gidl ¢ b [l ISR &1 T SoRTy & foTu ItRard 381 ol Udbhdl ¢ fordl 9 Ualv— &
a1 =T8T HRar | T SO U GURT WY I8 39 gIdl ¢ 19 RIS Bl RN B &b [y Ward qIe=1/
ARl 3UH-319 H SRIYD B 5 | HYd Ao SHRDI H RET SR & i dlieh 3 fafe) gad- &t
BT [l AT STar 8 | 9Rd H U fRufd 981§ | Sifed H foh T 17T &1 SR i 3R, 311+ 919
SRR, fawelt 3= =amamad (2009) T TATed H1 SHIG U § | gTale 9t amral ¥ gu-fafey yad= &
Hipr Rgid & &9 1 Ul 919 & 3Hia & 9 1 39 d1g H MUY R & Gag1 gRebd gt | $OR1Y
O 39 goig U @ T fHe g1 SI1d1 Hifd 34 SiHfed H SR &I aral f[ha1 Sidl g | Tl $is (Gl gHIR
SRy eelt faferme= & gfddd g1 | T 8l 39 A & Ul RIS STRT Dl Hi R BT gHT |
YR &8 Hfgdr, & 31efi TRIR0M BT RIS (HRT 107). ATRIYD TSUA (YRT 120 P) URT354 1,354 I h
feTT. U1 =11 Ud Wrelifiant Sifef-ae, 2000 H H0 I & 3{efi SRS AT BT U&T GHI |

The decision of R.K. Anand V/s Registrar, Delhi High Court (2009) is applicable.

1. not as an acceptable principle in all cases
2. as an acceptable principle in all cases
3. as an acceptable principle in all cases if not done in public interest
4. not applicable even in R K. Anand case.
(1
(2 2
(3) 3
(4) 4

AR, . 3 I ASTER fewedl 3= =rmert (2009) 1 1071 @) 8
1. g1 AHdl | wWier [eid & w4 | 181
2. gt ATl H wie Rieid & ©0 H
3. gt AHEl H Wi Rigid & 9 H afe Sfed # 18! fear man gl
4. 3R . 3fT=< d1g # 1 ar] el

1) 1

) 2
3) 3
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Sting operation is a phenomenon which became popular in 1970s. With the advent of technology and internet,
sting operation is no more monopoly of media houses or big players. Being essentially a deceptive operation,
though designed to nab a criminal, a sting operation raises certain moral and ethical questions besides legal
issues. The victim, who is otherwise innocent, is lured into committing a crime on the assurance of absolute
secrecy and confidentiality of the circumstances raising the potential question as to how such a victim can be
held responsible for the crime which he would not have committed but for the enticement. Another issue that
arises from such an operation is the fact that the means deployed to establish the commission of the crime itself
involves a culpable act. In the U.S. a sting operation is recognized as a legal method of law enforcement in a
limited manner. The same is not the position in India. A sting operation carried out in public interest has had the
approval of Court in R.K. Anand V/s Registrar, Delhi High Court (2009) though it will be difficult to understand
the ratio in the said case as an approval of such a method as an acceptable principle of law enforcement valid in
all cases. A crime does not stand obliterated or extinguished merely because its commission is claimed to be in
public interest. Any such principle would be abhorrent to our criminal jurisprudence. At the same time the
criminal intent behind the commission of the act will have to be established. The offence of abetment (section
107), criminal conspiracy (Section 120A) s 354C, 354D under IPC and some provisions of the Information
Technology Act, 2000 would, thus, require criminal intent.

AR TTerier #i gfeu 2R f3T U us & IR <ifoie:

RT3 T 921 g Sl 1970 & G U dlb iUl g5 | W] (doh-iiidh) 3R Sex4c & R &
TaTd RET AT 319 HifSar sRH 11 g8t Huf-alufagEl &1 THIiadR Tl 3a1 | Teft & aimeH
faret sroRTelt @t upe & o feg fova Siran 8. g 9fe g¢ ifarfa: th dueyrf o 8, f&n
IR fafee Hel & 1Y g Biauy i@ SR HifduRe qare Gs1 Sl g | 39d RISR Sl 391 Felv g
fSre gof o 3R uRRFAaT 1 MU=l & S1yTE IR SRy B b fag URd b1 i g forad ag
UG TaTe Uel gidl ¢ b [l ISR &1 T SoRTy & foTu ItRard 381 ol Udbhdl ¢ fordl 9 Ualv— &
a1 =T8T HRar | T SO U GURT WY I8 39 gIdl ¢ 19 RIS Bl RN B &b [y Ward qIe=1/
ARl 3UH-319 H SRIYD B 5 | HYd Ao SHRDI H RET SR & i dlieh 3 fafe) gad- &t
BT [l AT STar 8 | 9Rd H U fRufd 981§ | Sifed H foh T 17T &1 SR i 3R, 311+ 919
SRR, fawelt 3= =amamad (2009) T TATed H1 SHIG U § | gTale 9t amral ¥ gu-fafey yad= &
Hipr Rgid & &9 1 Ul 919 & 3Hia & 9 1 39 d1g H MUY R & Gag1 gRebd gt | $OR1Y
O 39 goig U @ T fHe g1 SI1d1 Hifd 34 SiHfed H SR &I aral f[ha1 Sidl g | Tl $is (Gl gHIR
SRy eelt faferme= & gfddd g1 | T 8l 39 A & Ul RIS STRT Dl Hi R BT gHT |
YR &8 Hfgdr, & 31efi TRIR0M BT RIS (HRT 107). ATRIYD TSUA (YRT 120 P) URT354 1,354 I h
feTT. U1 =11 Ud Wrelifiant Sifef-ae, 2000 H H0 I & 3{efi SRS AT BT U&T GHI |

A person who does a sting operation

1. does not commit any offence
2. will commit offence, if criminal upon whom sting is done, is not caught
3. does not commit any offence, if sting operation is done in public interest
4. can commit offence like abetment etc.

1) 1

() 2

(3) 3

(4) 4

Pg AT oIl (T ORI Bl 6-

1. 98 Pl AW g1 Il o

2. g RTY HAT IfS g8 et g st ol ol & o IR (& fopan oiran g
3. g RETT SUeRH SHigd § foha1 741 5, di a8 $ls IRI el Hdl o

4. TRTY B IHYM A1[S ST Plg AURTY F bl g |




1)1

(2) 2

3) 3

4) 4

1[Option ID=40497] Question Description : law_law_set 1_english_q100
2[Option ID=40498]

3[Option ID=40499]
4[Option ID=40500]




